UGC NET 2021 Tribal N Religion Language Lit

Topic:- 70Tribal_A

1) What is a "Dhumkuria"?

B @@ 3 ?

[Question ID = 3376][Question Description = S2_qSNz_PG_TRL_QO01]
1. Youth dormitory/¥ar 318 [Option ID = 13501]

2. Name of a sacred plant/ufde dler @r omer [Option ID = 13502]

3. The Nagpuri word for 'cloth'/smeiyst 3 aust [Option ID = 13503]

4. A type of dance/uvs g [Option ID = 13504]

Correct Answer :-
® Youth dormitory/ar a8 [Option ID = 13501]

2) Who wrote the Kural?

forgaifepdi 3 ‘gr1ct’ fptor ferzn 3 ?
[Question ID = 3377][Question Description = S2_qSNz_PG_TRL_Q02]

1. Thiruvalluvar/fRrsacgaz [Option ID = 13505]
2. Ayaikar/s@@z [Option ID = 13506]

3. Shankaracharya/si@w2rart [Option ID = 13507]
4. Rishi Agasta/sft sercr [Option ID = 13508]

Correct Answer :-
e Thiruvalluvar/fsacgaz [Option ID = 13505]

3) To which group of sounds does - "Pa", "Pha”, "Ba", "Bha", "Ma" belong to?

' e T W iR H e eafer e A Aeag T ?

[Question ID = 3378][Question Description = S2_qSNz_PG_TRL_QO03]
1. Gutteral/wuga [Option ID = 13509]

2. Dental/gse [Option ID = 13510]

3. Bilabial/siigr [Option ID = 13511]

4. Palatal/arcrsa [Option ID = 13512]

Correct Answer :-
e Gutteral/wvaa [Option ID = 13509]

4) Which national award did Dr. Ram Dayal Munda receive ?
31 IercATeT HUST of DlolAT AUSERI Y¥DR Yrd g ?
[Question ID = 3379][Question Description = S2_qSNz_PG_TRL_Q04]

Padma Vibhushan/usr fasmor [Option ID = 13513]
Padma Bhushan/us1 sfuor [Option ID = 13514]
Padma Shri/ust off [Option ID = 13515]

Param Veer/uzsdlz [Option ID = 13516]

A W N -

Correct Answer :-
e Padma Vibhushan/us1 fasgwur [Option ID = 13513]

5) Who won the Sahitya Akademi Award for Santhali in 2020

2020 3 3iarctt & fere Jfdea srpicdt grpR 21 G sRi ?
[Question ID = 3380][Question Description = S2_qSNz_PG_TRL_QO05]

1. Bhujanga Tudu/gsien gs, [Option ID = 13517]

2. Aditya Kumar Mandi/snféer gar i€t [Option ID = 13518]
3. Rupchand Hansdah/¥uzic &er [Option ID = 13519]

4. Badal Hembram/srger g#qgr [Option ID = 13520]

Correct Answer :-
e Bhujanga Tudu/gjsisn gs, [Option ID = 13517]



6) Which Santhali writer was awarded the Padma Shri in 2018?

2018 3 fepa1 Herrell cra® o usI9f} A FFafora e sri ?
[Question ID = 3381][Question Description = S2_qSNz_PG_TRL_QO06]

. Arjun Charan Hembram/smjet @=ur g#ga [Option ID = 13521]
. Bogla Soren/siteremr 2t [Option ID = 13522]

. Ram Chandra Murmu/2m1 geg 33 [Option ID = 13523]

. Digambar Hansda/f&swe= g3t [Option ID = 13524]

A W N -

Correct Answer :-
e Arjun Charan Hembram/smfet @rur 3#ggt [Option ID = 13521]

7) Which of the following laws did NOT impact tribal society negatively?

forgatferi¥aa 3 3 Dol Dlofel SIGISIIIRI HATST UR SIPRICHAD YHIA oI5l SIeldl & ?

[Question ID = 3382][Question Description = S2_qSNz_PG_TRL_QO07]

1. The Permanent Settlement Act (1773)/zemft dete=a sifiiformr (1773) [Option ID = 13525]

2. The Bengal Land-revenue sales Act, 1859 /dsmer 91 Isa faaa siféiformer, (1859) [Option ID = 13526]
3. Chotanagpur Tenancy Act (1908)/®ereme g2 f52rn ®eer (1908) [Option ID = 13527]

4. Both Option 1 and Option 2/1 wd 2 2leil [Option ID = 13528]

Correct Answer :-
® The Permanent Settlement Act (1773)/zerflt dctaxa aifdiformer (1773) [Option ID = 13525]

8) Who is the author of "Sahityadarpan™ ?

"anfgea gdur” & A dlol & ?

[Question ID = 3383][Question Description = S2_qSNz_PG_TRL_QO08]
1. Mammat/a@se [Option ID = 13529]

2. Bhamah/smte [Option ID = 13530]

3. Vishwanath/feqemer [Option ID = 13531]

4. Dandi/gusl [Option ID = 13532]

Correct Answer :-
e Mammat/#wae [Option ID = 13529]

9) What do students of Semantics study?

31ef forsier @ B GRIT eI DI ?

[Question ID = 3384][Question Description = S2_qSNz_PG_TRL_Q09]
Geography/spiiet [Option ID = 13533]

History/sfeert [Option ID = 13534]

Deterioration of Meaning/aref Jiarast [Option ID = 13535]

Different aspects of Meaning/sief @ sie=1 usg] [Option ID = 13536]

A W N -

Correct Answer :-
e Geography/spiet [Option ID = 13533]

10) Who among the following has created a script for tribal languages?

SIeTSIIRT TdI3il & fere uep ferftr &bt saen bt &t ?

[Question ID = 3385][Question Description = S2_qSNz_PG_TRL_Q10]
1. Fr. J. B. Hoffman, S.J./St a1 &ft. diwdler, wat. a1 [Option ID = 13537]

2. Fr. Agapit Tirkey, S.J./3t fie fod5 , vt 31 [Option ID = 13538]

3. Neelam Toppo/sficier @t [Option ID = 13539]

4. Dr. Narayan Oraon/3sf sierivr 33fa [Option ID = 13540]

Correct Answer :-
e Fr. J. B. Hoffman, S.J./st a6 €. gfwier, war 1. [Option ID = 13537]

11) Which of the following statements is the correct definition of Nirguna ?
fogotifera wersll 3 A ol forefur &t &t ufdsmmen 3 ?

[Question ID = 3386][Question Description = S2_qSNz_PG_TRL_Q11]



It is the concept of a formless God/ v foRIDR gos ot Jmcuar 3 [Option ID = 13541]
It is the concept of a formless Guru/?s vd foRIPR 3 &t Ameuon & [Option ID = 13542]
It is the concept of Spirituality/s sremear ot Jieuon & [Option ID = 13543]

None of these/3ugeb 3 3 @I orét [Option ID = 13544]

A W N -

Correct Answer :-
® |t is the concept of a formless God/w& v forRIPR o ot Jdeusn & [Option ID = 13541]

12) Which book did Raja Upendranath Singhdeo write on Aryan and Tribal music ?

3IRiel 317 SIeTSIIARI JHsfld U= ISII IUogetrel RBisdd of ®lel AHl grdam ferxdl 3 ?

[Question ID = 3387][Question Description = S2_qSNz_PG_TRL_Q12]

1. "Rashmirathi"/>fgszeflt [Option ID = 13545]

2. "List of Monuments in the Chotanagpur Division"/ "férze 3ifw #ifogdict sol BictomeryR Fdiser” [Option ID = 13546]
3. "Descriptive Ethnology of Bengal"/ "fsRapftea seaiiciisht sifw domer” [Option ID = 13547]

4. "Chotanagpur Tal Manjari"/ "8ictomeiy dret a3t [Option ID = 13548]

Correct Answer :-
® "Rashmirathi”/fdsreft [Option ID = 13545]

13) Which one of the following is a work of Tamil Grammar that is said to be the earliest extant work of Tamil Literature ?

Dol AT ARG aldc sper alic wfdc | fepme 3 ?

[Question ID = 3388][Question Description = S2_qSNz_PG_TRL_Q13]
Tolkappiyam/dermiftazisr [Option ID = 13549]

Patinenmalkanakku/ ufeoletdictasarag [Option ID = 13550]
Patinenkilkanakku/ufereifdserporag [Option ID = 13551]
Cillappatikaram/Jemuciorar [Option ID = 13552]

A wWN =

Correct Answer :-
® Tolkappiyam/derpiftaziar [Option ID = 13549]

14) What does "Sakam orec” mean to the Santals?

Jdrcll # "ADA NG’ DI Adcld TAT 3 ©
[Question ID = 3389][Question Description = S2_qSNz_PG_TRL_Q14]

Marriage ceremony/fdars [Option ID = 13553]
Death ceremony/#ey [Option ID = 13554]
Engagement ceremony/#stoft [Option ID = 13555]
Divorce ceremony/aem [Option ID = 13556]

A w N =

Correct Answer :-
® Marriage ceremony/fdars [Option ID = 13553]

15) Which one of the following is the oldest text of Sanskrit Grammar?

Jrgpa Aaffires yrefiol wira2or grae ool 2 & ?

[Question ID = 3390][Question Description = S2_qSNz_PG_TRL_Q15]
Panini's "Astadhyayi" /aiforfor ‘sresreem=fl’ [Option ID = 13557]

Yaska's "Nirukta" /=xart ‘forsepr [Option ID = 13558]

Vasubandhu's "Abhidharmakosabhasya" / a3jaoej ‘ssftersfrismsr" [Option ID = 13559]
Patanjali's "Mahabhasya" / ucsifer @1 ‘sremmsr [Option ID = 13560]

A WN -

Correct Answer :-
® Panini's "Astadhyayi" /uifoifer ‘sreesteameft’ [Option ID = 13557]

16) Which one of the following does NOT belong to the Austro-Asiatic linguistic group?

forgotifepd ot 3req) Cfdrnes sirer e 6l o1dk 3 ?

[Question ID = 3391][Question Description = S2_qSNz_PG_TRL_Q16]
Munda/gpst [Option ID = 13561]

Ho/2x [Option ID = 13562]

Korwa/@rzar [Option ID = 13563]

Kurux/@sza [Option ID = 13564]

A W N -

Correct Answer :-
e Munda/gust [Option ID = 13561]



17) Which ancient Sanskrit text is a collection of 1028 hymns?

forgatferiRaa 3 A ®lel AT Ygreiiel ¥ 3o 1028 Fdlqi @1 Jdcrol 8 ?

[Question ID = 3392][Question Description = S2_qSNz_PG_TRL_Q17]
1. Sama Veda/zmmg [Option ID = 13565]

2. Rig Veda/sssdg [Option ID = 13566]

3. Brahamans/gmiur [Option ID = 13567]

4. Aryankas/smuwie [Option ID = 13568]

Correct Answer :-
e Sama Veda/3mds [Option ID = 13565]

18) Which of the following works did Varahamihira write?

forgotferfRaa 3 A fovar ofer B FaonPR arEiiR: 3 ?

[Question ID = 3393][Question Description = S2_qSNz_PG_TRL_Q18]

Panchsidhantika/dafrgiferer [Option ID = 13569]
Mudrarakshasa/#igrisrt [Option ID = 13570]
Kathasaritasagar/werifsazmer [Option ID = 13571]
Upanishad/3uforag [Option ID = 13572]

AW N -

Correct Answer :-
® Panchsidhantika/datgiferat [Option ID = 13569]

19) Who wrote the Kathasaritsagar?

"werAf¥aArR" & ol fsda & 3 ?

[Question ID = 3394][Question Description = S2_qSNz_PG_TRL_Q19]

1. Somdeva/zh@#ga [Option ID = 13573]

2. Varharmihara/arsf#faz [Option ID = 13574]
3. Rani Kriti/fq ofer [Option ID = 13575]

4. Visakadatta/fqemxasa [Option ID = 13576]

Correct Answer :-
e Somdeva/=icga [Option ID = 13573]

20) Who wrote the "Ramcharita"?

"aratia” &t oo foeaer o 3 ?

[Question ID = 3395][Question Description = S2_qSNz_PG_TRL_Q20]

1. Chand Bardoi/dg a=grft [Option ID = 13577]
2. Banabhatta/ammsz [Option ID = 13578]
3. Sandhyakara Nandi/zizzz sict [Option ID = 13579]

4. Kalhana/@egur [Option ID = 13580]

Correct Answer :-
e Chand Bardoi/dg aeerft [Option ID = 13577]

21) The "Brihat Samhita" was written by ?

'gad Afdar’ &bl Faet el & et ?

[Question ID = 3396][Question Description = S2_qSNz_PG_TRL_Q21]
Somdeva/zieca [Option ID = 13581]

Varharmihara/armsfaizz [Option ID = 13582]

Kalidasa/@riferert [Option ID = 13583]

Ayaikar/3rra@z [Option ID = 13584]

A W N -

Correct Answer :-
e Somdeva/=iwca [Option ID = 13581]

22) Which Sufi Dargah is at Ajmer?

3o 3 fop2r bl Jia @1 ¢oms 3 ?
[Question ID = 3397][Question Description = S2_qSNz_PG_TRL_Q22]



. Baba Farid/armar w3 [Option ID = 13585]

. Qutubuddin Bakhtiyar Kaki/@qggier affeamz @bt [Option ID = 13586]
. Moinuddin Chisti/asgter faredt [Option ID = 13587]

. Khwaja Bahuddin/zarsn s=sgler [Option ID = 13588]

A W N -

Correct Answer :-
e Baba Farid/amar w3ig [Option ID = 13585]

23) Which ancient Sanskrit text deals with the origin of the Universe, death and birth, the material and the spiritual world?

forgotfeti3aa 3 A Plel AT Yol JAFMd 3o galis oI Ieufd, Slod 3R Feg aen Hifdm iR sneafead eI A Adida 3 ?

[Question ID = 3398][Question Description = S2_qSNz_PG_TRL_Q23]
. Rig Veda/sssdg [Option ID = 13589]

. Atharva Veda/srerdds [Option ID = 13590]

. Aryankas/amure [Option ID = 13591]

. Upanishads/3uforug [Option ID = 13592]

A W N -

Correct Answer :-
e Rig Veda/sssdg [Option ID = 13589]

24) Which work of Sangam Literature, composed by Jain Monks talks about the transient nature of life and youth?

Jo1d i3 b forgorfeiRaa 3 2 a1 afer o1 Fiaderal Siol 1181311 GRI fop=n RN 8 f31R131 Shidet iR Aldet &I orardr @1 quier 3 ?

[Question ID = 3399][Question Description = S2_qSNz_PG_TRL_Q24]
Nanmanikkatiga/suem@fdraamfesn [Option ID = 13593]

Naaladiyar/smeifezmz [Option ID = 13594]

Inna Narpathu/sset srug [Option ID = 13595]

Iniyavai Narpathu/sfernd say [Option ID = 13596]

A wWN =

Correct Answer :-
® Nanmanikkatiga/sem@fraamtesn [Option ID = 13593]

25) Which of the following was the basic premise of the Bhakti Movement?

forgsiferlae 31 31 Blel AT HfP STiCIcTol I T LR &I ?

[Question ID = 3400][Question Description = S2_qSNz_PG_TRL_Q25]

1. Bhakti or single minded, uninterrupted and extreme devotion to God as the only means of salvation/eifep =1 $2az & yfer vapmferd 2l sifdRd 3 aza foreot
2t alter @1 v a1 2wl 3 [Option ID = 13597]

2. Bhakti or single-minded, uninterrupted and extreme devotion to God with the help of Brahmins was the only means of salvation/siftp =n gremwii &t
JBRIAL A TR D Yfel ThBJI Blb2 3Ifdd 3z a@2at foreot &t aitel @1 vep i) el 3 [Option ID = 13598]

3. Both Option 1 and Option 2/3wf 1 3ii 2 gleil [Option ID = 13599]

4. None of these/3uzftp 3 3 @IS aél [Option ID = 13600]

Correct Answer :-

e Bhakti or single minded, uninterrupted and extreme devotion to God as the only means of salvation/#fep = $2a2 @ yfer vopm]ferd a2 sifdrd 3iik aa foreat
2t alter &1 v a1 Akt 3 [Option ID = 13597]

26) Who is the author of "Ram Charita Manasa” ?

"Iy AleTA' DI AAD Bl 3 ?

[Question ID = 3401][Question Description = S2_qSNz_PG_TRL_Q26]
. Tulsidas/geriiarr [Option ID = 13601]

. Valmiki/aresfifes [Option ID = 13602]

. Vyas/ema [Option ID = 13603]

. Surdas/3Rera [Option ID = 13604]

A W N -

Correct Answer :-
e Tulsidas/qgerflerr [Option ID = 13601]

27) Who wrote "Meghadootam"?

"IrEgad’ Dl ol fpol b off ?

[Question ID = 3402][Question Description = S2_qSNz_PG_TRL_Q27]
. Bhawabhuti/smasjfer [Option ID = 13605]

. Kalidasa/wiferert [Option ID = 13606]

. Sudraka/3ert [Option ID = 13607]

. Atikal Ilango/sifeaset scisii [Option ID = 13608]

A w N =

Correct Answer :-



® Bhawabhuti/smagfer [Option ID = 13605]

28) Who is the author of "Mudrarakshasa"?

"HGRIGRT" @ CRAD Biol & ?

[Question ID = 3403][Question Description = S2_qSNz_PG_TRL_Q28]
1. Somdeva/ziesa [Option ID = 13609]

2. Ravi Kriti/2faqfer [Option ID = 13610]

3. Varharmihara/armsfifés [Option ID = 13611]

4. Visakadatta/fqemaga [Option ID = 13612]

Correct Answer :-
e Somdeva/3iweiga [Option ID = 13609]

29) When was Meerabai born?

a1 @I SlodA @ 311 ?

[Question ID = 3404][Question Description = S2_qSNz_PG_TRL_Q29]
1. 1446 A D E/1446 st [Option ID = 13613]
2. 1456 A D E/1456 &t [Option ID = 13614]
3. 1498 A D E/1498 st [Option ID = 13615]
4. 1520 A D E/1520 $=t [Option ID = 13616]

Correct Answer :-

® 1446 A D E/1446 st [Option ID = 13613]

30) What is the equivalent word for "Motif" in Hindi ?
2cY 3 "MOTIF" (30Rw) o fere AdIaer 9166 @I 3 ?

[Question ID = 3405][Question Description = S2_qSNz_PG_TRL_Q30]
1. Lokokti/caiRs [Option ID = 13617]

2. Kathanak Purti/@ereres gfef [Option ID = 13618]

3. Lok Tatwa/eli® aca [Option ID = 13619]

4. Lok Vishwas/el@ faeart [Option ID = 13620]

Correct Answer :-
o Lokokti/climifes [Option ID = 13617]

31) Who wrote the book "Religion and Customs of the Oraons"?

"Yerstol Us @ecdA 3 ¢ Ria” e b fdbrer ferxdl ?
[Question ID = 3406][Question Description = S2_qSNz_PG_TRL_Q31]

B. Malinowski/dft. acjeifea<ht [Option ID = 13621]
Ranjit Toppo/3sfia @ [Option ID = 13622]

P. Dehon/tt. 3&fet [Option ID = 13623]

C. Lakra/z3ft. erpar [Option ID = 13624]

A W N -

Correct Answer :-
e B. Malinowski/dft. arcjeiicecht [Option ID = 13621]

32) Which of the following is not a "Ho" group?

forgetferRaea 3 21 let "8 A3xE ordl 3 ?

[Question ID = 3407][Question Description = S2_qSNz_PG_TRL_Q32]
1. Korwa group/mzar 3ggg [Option ID = 13625]

2. Munda-Manki / Group/gusI-#io<hl / 3ee [Option ID = 13626]

3. Kadar Group/gz g [Option ID = 13627]

4. Kajomesin group/adsiaiRer J9s [Option ID = 13628]

Correct Answer :-
e Korwa group/rar 2wy [Option ID = 13625]

33) Which among the following languages is closely associated with Odia?

forgaiferRaa 3 2 ol 2l smer "33 @ Afoorde 3 ?
[Question ID = 3408][Question Description = S2_qSNz_PG_TRL_Q33]



Assamese / Bengali/srwft / demeft [Option ID = 13629]
Nepali/omwreft [Option ID = 13630]

Maithili/@ferett [Option ID = 13631]

Punjabi/dsmdt [Option ID = 13632]

A W N -

Correct Answer :-
® Assamese / Bengali/srwft / demcft [Option ID = 13629]

34) Into how many parts is Kabir's Bijak primarily divided?

Dl @ "disi” @I grefdias diz O fasdor smeil 3 dicr s 3 ?

[Question ID = 3409][Question Description = S2_qSNz_PG_TRL_Q34]
1. 3/3 [Option ID = 13633]

2. 4/4 [Option ID = 13634]

3. 10/10 [Option ID = 13635]

4. 9/9 [Option ID = 13636]

Correct Answer :-
e 3/3 [Option ID = 13633]

35) Sursagar is written in which language?

"JFAPR" o srur d forar sl 3 ?

[Question ID = 3410][Question Description = S2_qSNz_PG_TRL_Q35]
1. Awadhi/azmazft [Option ID = 13637]

2. Brajbhasa/gztsmur [Option ID = 13638]

3. Rajasthani/zmrzemsft [Option ID = 13639]

4. Hindi/f&dt [Option ID = 13640]

Correct Answer :-
o Awadhi/smaeft [Option ID = 13637]

36) Who among the following wrote the Rajatarangini - a historical chronicle?

forgatifeoa 3 A fpaal "IeIaBl - v ¥ersIRie sper” &t zaon & ?

[Question ID = 3411][Question Description = S2_qSNz_PG_TRL_Q36]
1. Megasthenese/dsmeewntsr [Option ID = 13641]

2. Al-Baruni/sicr-awoft [Option ID = 13642]

3. Kalhana/@esur [Option ID = 13643]

4. Hiuen Tsang/&at 3tiet [Option ID = 13644]

Correct Answer :-
® Megasthenese/demzewnttsr [Option ID = 13641]

37) What kind of 'devotional poet’ would Kabirdas be classified as?

Ddl PARGRI @I MU ip1 YR @ 1fth ®fd & Hu 3 afvfa o3t ?
[Question ID = 3412][Question Description = S2_qSNz_PG_TRL_Q37]

Modern/smgform [Option ID = 13645]
Prem Margi/Jsemstt [Option ID = 13646]
Sagun /w1 [Option ID = 13647]
Nirgun/fewfor [Option ID = 13648]

A WN -

Correct Answer :-
e Modern/smgferas [Option ID = 13645]

38) Who first wrote the "Mahabharata” in Odia?

3t 3 "HenIRa’ &bt Jaen Adyent e &t ?

[Question ID = 3413][Question Description = S2_qSNz_PG_TRL_Q38]
1. Arjun Das/swfet grt [Option ID = 13649]

2. Jaydev/sriéa [Option ID = 13650]

3. Jagnath Das/seIeone grt [Option ID = 13651]

4. Sarala Das/3ren gra [Option ID = 13652]

Correct Answer :-
e Arjun Das/smfot grt [Option ID = 13649]



39) Which national award was conferred on Bhujanga Tudu in 20177

2017 3 ysioN g3, I Blol AT AR GrPR &A1 sr ar ?

[Question ID = 3414][Question Description = S2_qSNz_PG_TRL_Q39]
Param Veer Chakra/uzsrdlz aag [Option ID = 13653]

Nobel Prize for Literature/ufde1 @1 sitaet gzar [Option ID = 13654]

Sahitya Akademic Award/ufacr simrcstt gaear [Option ID = 13655]
Pulitzer Prize/yfeisr gzz@mr [Option ID = 13656]

A W N -

Correct Answer :-
® Param Veer Chakra/uzardlz aa [Option ID = 13653]

40) Which Santhali Writer was awarded the Padma Shri in 2012?

fep=1 Jarett cram ot 2012 £. 3 us1ofl A3ar6t &= srim ?
[Question ID = 3415][Question Description = S2_qSNz_PG_TRL_Q40]

Gobinde Chandra Majhi/siifdes g arsft [Option ID = 13657]
Rabilal Tudu/femret s, [Option ID = 13658]

Rupchand Hansda/=uzig g3er [Option ID = 13659]
Digambar Hansda/f&swez aizrer [Option ID = 13660]

A W N -

Correct Answer :-
e Gobinde Chandra Majhi/sifdes dg amsft [Option ID = 13657]

41) What is Linguistics?

A. The scientific study of language

B. Learning as many languages as one can

C. Is about prescribing what grammar is correct

D. The analysis of language form, language meaning and language in context
E. The study of postage stamps

Choose the correct answer from the options given below:

eI - fersiior @ & ?

A. o1 JSTford 3reRIol

B. forail 2t 1ad Iaeilt simeme fizaen

C. @lel AT s30T A T sAD forerizor o & A

D. sirursii @ yasu, sref iz Jogst @1 faecseor

E. s/ - RRapcl @I 31eRIeT

ofi 3w s1u faseal & A A8 IR BT wRI6T BT :

[Question ID = 3416][Question Description = S2_qSNz_PG_TRL_Q41]

A and B only/d>qet A siiz B [Option ID = 13661]
B and C only/@aet B 3iiz C [Option ID = 13662]
C and E only/aae C 3iiz E [Option ID = 13663]
A and D only/@act A siiz D [Option ID = 13664]

A W N -

Correct Answer :-
® Aand B only/@aet A iz B [Option ID = 13661]

42) According to Jagdish Trigunayat:

A. There is a tradition of remembering as well as forgetting songs.

B. People do not forget the songs played in an atmosphere of fun and inebriety even when they are away from it.
C. The Munda tribe is not the only tribe that is not poetic.

D. If someone sings a new song, other youngsters immediately learn it.

Choose the correct answer from the options given below:

SISl PRI & eI



A. 3fidl @ fererr d Fgfer @ aror & frgfer HI ot weguar 3

B. 3« dem o191 @& arara?vr 3 gl A 31ereT Blol UR 8t sfial @l o1dl aferal

C. st sufer 8 ofdaern ol 3

D. o2l & grI Al DI R 3fia 3R SIeT 3, Al G slloidlol 3A g3 ARA old &
ofid o s1u faseal & A A8 IR BT wRI6T BT :

[Question ID = 3417][Question Description = S2_qSNz_PG_TRL_Q42]

A and C only/@aet A siiz C [Option ID = 13665]
A and B only/dact A siiz B [Option ID = 13666]
C and D only/dsaet C siiz D [Option ID = 13667]
A and D only/dbaet A siiz D [Option ID = 13668]

A W N -

Correct Answer :-
e Aand C only/asact A siiz C [Option ID = 13665]

43) Which are the fields of linguistics?
A. Phonetics, Syntax, Semantics

B. Morphology, Phonology, Pragmatics

C. Morphology, Literary Theory, Grammar
D. History, Anthropology, Chemistry

E. Biology, Geology, Psychology

Choose the correct answer from the options given below:

forgotifoner smaT 8Xcf A Blol - Dlol 3 ?

A. wrafead, Rorca, Aufocaan

B. silrwiciisll, Wisilciisll, Jemaifeat

C. dARwIcisl, Afdcr RBigia, samaor

D. sfrer, soeulcsh, dard

E. ariicish, RSridist, Asalddist

il feu a1u fareedl 3 A A8 I D1 TRIet B :

[Question ID = 3418][Question Description = S2_qSNz_PG_TRL_Q43]

1. A and B only/dact A siiz B [Option ID = 13669]
2. B and C only/dact B siiz C [Option ID = 13670]
3. Cand D only/a@ae C siiz D [Option ID = 13671]
4. D and E only/a@ae D siiz E [Option ID = 13672]

Correct Answer :-
e A and B only/dbaer A 3iiz B [Option ID = 13669]

44) According to Dr Bhuvaneshwar Anuj:

A. Birsa lived in Ulihaatu and was enrolled in the Rumchu school in, a neighbouring village.

B. Dombari Pahadi in Salga village and Sayeel Rakab, were to, became the epicentre of the Munda movement, later on.
C. Birsa registered in the Burju school for primary education.

D. Birsa Munda used to take his aunt's goats out to graze.

Choose the correct answer from the options given below:

3. YdoI%aR 3ofsl D IR

A. Tz 3fetsig] 3 32 folpe @ wop sifd @ HHT FAxel d Ul slIdHidel DA fern
B. Jircien spet 3 SRl UBIST ael Ase - IPd, 3MicIclol dl dog doll

C. T of Sur yrsarst dren @ fére §5f Fapet 3 31UGIT oftdl ferRaarn

D. fa=amm oSt 3rucil arcdt &t aof¥l TR o &

il fou o1 frpeul 3 A & IR BT a6l HIfSIE ¢

[Question ID = 3419][Question Description = S2_qSNz_PG_TRL_Q44]



A and B only/@act A 3iiz B [Option ID = 13673]
B and C only/dqct B siiz C [Option ID = 13674]
C and D only/@saet C siiz D [Option ID = 13675]
A and C only/@act A siiz C [Option ID = 13676]

A W N -

Correct Answer :-
e A and B only/@act A 3iiz B [Option ID = 13673]

45) According to Dr Virottam:

A. After the decline of the Asur tribe, the influence of the Mundas increased

B. The local tribes were not impressed by the advent of the Buddhist Bhikkhus or the Jain Sravakas.

C. The common people were not under pressure from the increasing number of estate owners and landlords.

D. When other tribes and Aryans entered the region, changes set in, in the way people lived, and in their mores and
customs.

Choose the correct answer from the options given below:

31, dl. diRIddA D SRIR

A. 3Rl @ YA @ |6 RS A Jusisil b geretdar adl

B. Siot dig rer 3 ofracnl ud firggaii & gyder A asi ¥ storenicr yenfaa oidl 8

C. smefizgRl aen seiicRI &l dgddl Slcll @ DBIRUT ATAIGT STol UR BIE fa9y cara o1l ust

D. S 316 Storstiferl de 3Rt - Shferll @1 gaor g3 dl el - Asal 3R ARSI el - Rarsil 3 or1 af¥ade gu
il fou s1u frpeul 3 A & 3R BT a6l HIfSIE ©

[Question ID = 3420][Question Description = S2_qSNz_PG_TRL_Q45]

A and B only/@act A 3iiz B [Option ID = 13677]
B and C only/dqet B siiz C [Option ID = 13678]
C and D only/a@aet C 3fiz D [Option ID = 13679]
A and D only/dact A siiz D [Option ID = 13680]

A W N -

Correct Answer :-
e A and B only/daer A siiz B [Option ID = 13677]

46) According to Dr. Chaturbhuj Sahu:

A. Societal culture is not manifested adequately in the community work of the society.

B. Culture is the creation of all members of the society equally and it is their ancestral property.
C. Jharkhandi culture does not discriminate between caste and creed.

D. In the absence of the preservation of nature, nature does not inspire us.

Choose the correct answer from the options given below:

3i. agaf A1E D IGRIR

A. aarsl @& At ORI d FAST B FAvafer Sdofl & derst, deil &t sst - gl aiiz 3yu1 Jiuool ol Bl
B. Ji¥picl wamet U A TS B Wit bl GRT dotRfl srft dist aiedl 3, 2neft ceil &t godioh wuf 3

C. sR¥3) Fivapfer A sufer - aifer «r NeHra, e - ol A S - offa &I sirden nfe - 3nfe o8l 3

D. gmfere wraven @ eivT @ spia 3 off forrar Sfiaea ud YRuICRA oréf &l aRft 3

ofid o s1u fwedl & A A8 IR BT wRI6l BT :

[Question ID = 3421][Question Description = S2_qSNz_PG_TRL_Q46]

A and B only/@aet A siiz B [Option ID = 13681]
B and C only/dact B sfiz C [Option ID = 13682]
C and D only/aaet C 3fiiz D [Option ID = 13683]
A and C only/daet A siiz C [Option ID = 13684]

A W N -

Correct Answer :-
e Aand B only/dact A siiz B [Option ID = 13681]

47) According to Dr Chaturbhuj Sahu:
A. The Karma festival is an important festival of the tribals as well as of the non-tribals

B. The Karma festival is celebrated in the time between the difficult task of transplanting paddy in the fields and the
tedious, harvesting period.



C. If a person observing karma does not follow the correct protocols of eating and discipline, the "Java" will grow well.
D. There is no folk song related to the platonic love and transcendental love between siblings.

Choose the correct answer from the options given below:

3. agyfst Ag D 3roLAR

A. ©w ®iIER SlerSIicRIl & AT - AT 312 - SlolelicrIl @I oft v Asrayul =R 3

B. @ ud erret AUt @ @ider ufepr ik weoft P udonforil @ A DI BIcT BT JAD 3
C. afe wror - diel 3 den A Tefol A SI5aS BNl 3 a "sirar” 3ifer Joo2 T 3

D. urf - S80I D ol 9P RIR 3iIR 3cilicbd RIR A Adfa I clipaila ol 3

ofi o s1u faseal & A A8 IR BT <RIl BT :

[Question ID = 3422][Question Description = S2_qSNz_PG_TRL_Q47]

B and C only/@aet B aiiz C [Option ID = 13685]
A and B only/@act A 3iiz B [Option ID = 13686]
C and D only/daet C siiz D [Option ID = 13687]
A and C only/@ac A siiz C [Option ID = 13688]

A W N -

Correct Answer :-
e B and Conly/aaer B siiz C [Option ID = 13685]

48) According to Jagdish Trigunayat:

A. Primitive tribes are simple and natural.

B. The harmony between dance and songs does not remain alive in many forms.

C. The harmony between dance and songs remains alive in many forms.

D. Primitive tribes do not associate reminiscences of interesting incidents in dance songs.

Choose the correct answer from the options given below:

SIS PRI & eI

A. nfeH Storsnferit 1Ret sz Fapufae 3

B. gy 3iiz ofia o1 JdtoarT 3iois Ul 3 Sfifd ol 2aar 3

C. gca 3iiR 3fla T IWeaR oI WUl 3 Sifad - wwar 3

D. snfesr Sorsnferit ofe sfidl 3 Astia® acosil b Ffer o8t slisar 3

il feu s1u fareedl 3 A A8 IR D1 TRIel B :

[Question ID = 3423][Question Description = S2_qSNz_PG_TRL_Q48]

1. A and B only/dact A siiz B [Option ID = 13689]
2. Cand D only/dsaa C siiz D [Option ID = 13690]
3. Aand C only/d>act A siiz C [Option ID = 13691]
4. B and D only/aac B siiz D [Option ID = 13692]

Correct Answer :-
e A and B only/dbaer A 3iiz B [Option ID = 13689]

49) According to Dr Umesh Kumar Verma:

A. Jharkhand does not have an abundance of tribal art, education and music.

B. The Tribals folk arts of Jharkhand are the cultural and historical heritage of tribal society.

C. The Natural and spontaneous art of the tribes is not a significant part of their daily lives.

D. Tribes of Jharkhand have made the maximum possible effort to keep their cultural heritage intact.

Choose the correct answer from the options given below:

3. 39T BAR gt D ERIR &

A. smavs storsidi e, f9rgi aen Jefia o1 faye svsk ol &

B. smr¥s &l StorEId™ didwdr] sfcaril JATs Bl ARDID de SEIiRie tRis: 3

C. Srorsnferal I Dell el AT ATST Dell IoldD Giold Sildel @ Fecayvl 39T 181 3

D. smeeaus o SierSIfcrIl of 3ueil AiTmicrd Al DI 31SIUUT TolIu ol DI IFRAD PRI fob= 3



oiia fu s1u farapeul 3 A 2t IR DI R Diferu :
[Question ID = 3424][Question Description = S2_qSNz_PG_TRL_Q49]

1. B and D only/a@aet B siiz D [Option ID = 13693]
2. Aand B only/dact A siiz B [Option ID = 13694]
3. Cand D only/dsae C siiz D [Option ID = 13695]
4. Aand C only/adact A siiz C [Option ID = 13696]

Correct Answer :-
® B and D only/daa B siiz D [Option ID = 13693]

50) According to Dr Umesh Kumar Verma:

A. The density of Population in Chotanagpur and Santhal Pargana is higher than that of North Jharkhand.
B. Most of the inhabitants of Chotanagpur and Santhal Pargana depend on agriculture for their livelihood.
C. Chotanagpur has plateaus, hills and forests as a result of which there is a shortage of agricultural lands.
D. The Jharkhand plateau does not contain a majority of the tribal population.

Choose the correct answer from the options given below:

31, 391 BAR gai D GRIR

A. BIeT SIPIYR T AdIel UBTell Pl Sloftolcd I3l 3IR¥TUS D Slofdoeled Bl MG 3iferd 3

B. ®lcI oIPIYR Ud JAdrer el & 3if2rpior BrailRril &t sisfifam ot uz ok oxdl 3

C. BICGIPIYR USR UBISI del Sl A 4RI UST 3; BRI BrRul Ast ot Mo yfr siferes obt 3
D. sirzvs @ ucHl §iq A Slofsiicil e sicaféims oift 3

ofid fou s1u feseal # A A8 IR BT <RI BT :

[Question ID = 3425][Question Description = S2_qSNz_PG_TRL_Q50]
1. Aand C only/a@5aet A siie C

[Option ID = 13697]
2. B and D only/dact B 3iiz D

[Option ID = 13698]
3. Aand B only/dact A siic B

[Option ID = 13699]
4. Band C only/dae B sz C

[Option ID = 13700]

Correct Answer :-
e Aand Conly/daeAsiz C

[Option ID = 13697]

51) According to Jagdish Trigunayat:

A. Close relations were established between the primitive tribes and Aryans not only in the maternal and the ideological
arenas but also through marriage practises etc as well.

B. Indian literature is replete with stories of material relations of the Nagas and the Suparnas with the Aryans
C. Since ancient times, the Savar people have not been working as servers in the Jagannath Temple at Puri.
D. Bhima did not marry the Naga girl, Ulupi nor the demon girl Hidimba.

Choose the correct answer from the options given below:

SEISH9I fRIUIRIA & 3elRIR

A. axqgsii siiz frarl @ 8iq 3 8 o1l faars snfe & grr it sufca suferil A Il @1 aférss Jdder Fenflea gdr 81 3
B. c1il 3z Jrauif & rer it & fars Jder 61 waiforil A urddl Adca srTusT 3,

C. gl @ eI #fe 3 yreltel ®Iet A AR Sfel @ clidT AaD DI DI oldl B 3T B 3

D. sfier of oIeT oz It A 3R ASRT Do RBi3Far 2 frars ol s e

ofi o s1u fwedl & A A8 IR @I wRI6l HIfvrT :

[Question ID = 3426][Question Description = S2_qSNz_PG_TRL_Q51]



A and C only/dbaet A siiz C [Option ID = 13701]
B and C only/adqet B sfiz C [Option ID = 13702]
B and D only/@saet B siiz D [Option ID = 13703]
A and B only/dact A sfiz B [Option ID = 13704]

A W N -

Correct Answer :-
e A and C only/dae A siiz C [Option ID = 13701]

52) What are the physical differences between human beings and chimpanzees?

A. Chimpanzees walk with the help of arms and legs whereas, humans walk on two legs.

B. Chimpanzees can speak like humans.

C. The brain of the Chimpanzee is underdeveloped whereas, the human brain is developed.
D. Chimpanzees walk on two legs.

E. The toes of the chimpanzee touch the ground.

Choose the correct answer from the options given below:

O[S AT doldIely 3 9IS 3icR o=l 3 ?

A. To1drod §18 Ud UR <l ASRIAI A 316l Bl 3 Sid b Frera fruifed sreter @w2ar &
B. doratroly #Arerd bl sdifer diel Ader 3

C. gotarerHl @1 Al sreufaaa giar 8 sid fob #Arera afl¥are famlia giar 3

D. getarery <1 U3 A wcrar 3

E. gorerey &t wsl seflar uz doar 3

ofid o s1u fwedl & A A8} IR BT wRI6l HIfvrT :

[Question ID = 3427][Question Description = S2_qSNz_PG_TRL_Q52]

A and B only/dsact A siiz B [Option ID = 13705]
B and C only/dact B sfiz C [Option ID = 13706]
A and C only/@aet A siiz C [Option ID = 13707]
D and E only/@qet D siiz E [Option ID = 13708]

A W N -

Correct Answer :-
e A and B only/d@aet A siiz B [Option ID = 13705]

53) According to Dr Buwaneshwar Anuj:

A. The Birsa movement gradually stopped being a mass movement.

B. Since the beginning, the Birsa movement has been a reform movement.

C. Veer Singh Munda proclaimed the declaration of Birsa publicly in Veer Barki, Katui, and Gopal.
D. Birsas's movement based on religious groups was not affected by the Sardar movement.

Choose the correct answer from the options given below:

3. ydoreaR Iefsl D 3IURIR

A. o2 sticieret € - e Sfel 31iCIcTel T U NRYT Dol A WD 3¢ SRI

B. 3me3er A 31 ad farr 1 siicierol R1w Jemrardt Rigidl @ smerR uR ae a1 o

C. diz Ris gust o faren Gt @ivvn o1 gar dizaidl, o siiz sidia 3 e

D. forchy 3fiz enfdfes 361 A ARCIR 3HiCIcTol DI IRBF3ATA, IRCR HiCIclol D YHIA A fRAT B IUS9r Bl FaR oldl acel
ofid fou a1 fweal & A A8 IR BT wRI6T HIfdIT :

[Question ID = 3428][Question Description = S2_qSNz_PG_TRL_Q53]

A and C only/dact A siiz C [Option ID = 13709]
C and D only/a@aet C siiz D [Option ID = 13710]
B and C only/dact B sfiz D [Option ID = 13711]
A and B only/@>aet A siiz B [Option ID = 13712]

A w N =

Correct Answer :-
e Aand C only/aqet A siiz C [Option ID = 13709]

54) According to Dr Bhuwaneshwar Anuj:

A. Apprehensive of political harassment, Birsa's family moved to Chalakad.



B. Sugana Munda was given shelter in Chalkad, but Birsa went to Kander village in search of work.
C. Birsa's consciousness was not awakened by his interaction with Anand Panda.
D. While residing in Chaibasa, Birsa could not acquire higher primary education.

Choose the correct answer from the options given below:

3. Yo% 3ofel D IGRIR

A. sizicl @ ot D BRI ferar & arar - frar der uf¥aR @ 36 disT Jelde ad SR

B. @ciene 3 G HUST DY M9 &R orm, fRpoq farar srueil Shiferet &t st 3 32 sifa SR
C. 3iIeic UIvs @5 AuD I 316t A foRAr B 1ot 3 Rl Aol BT HAR o1&l Bt TP

D. fora of aari # 3@ &2 Ica grafie ¥R &I O1gm gra &l off

i) feu s1u farsedl 3 A A8 IR D1 WRIet B :

[Question ID = 3429][Question Description = S2_qSNz_PG_TRL_Q54]

A and B only/dact A siiz B [Option ID = 13713]
C and D only/daet C siiz D [Option ID = 13714]
B and C only/dact B sfiz C [Option ID = 13715]
A and D only/@act A siiz D [Option ID = 13716]

A wWw N =

Correct Answer :-
® A and B only/@aet A siiz B [Option ID = 13713]

55) According to Dr Giridhari Gaunjhoo Giriraj and Shakuntala Mishra:
A. Fields and Khalihans are made on mountains in Jharkhand.

B. "Akhara" and "Dhumkuriya” are located in the centre of the village.
C. Villages are situated in the "Khalihan".

D. Instruments (for songs) are not placed in the "Dhumkuriya”.

Choose the correct answer from the options given below:

3. Bif¥errdl sitsy Bif¥rst vd orpacn o] @ seRIR
A. siREs 3 usls UR Wd - wWfciael dolld 3
B. aiial @ dfa srast i g aiar 3
C. wafererer 3 sifa qard 3

D. epraf3n 3 o1l - 9t ofdl ¥ St 3

i) feu s1u famedl 3 A A8 IR D1 WRIet BRI :

[Question ID = 3430][Question Description = S2_qSNz_PG_TRL_Q55]

A and B only/dact A siiz B [Option ID = 13717]

B and D only/d5qet B siiz D [Option ID = 13718]
C and D only/@aet B siiz C [Option ID = 13719]
A and C only/@aa A siiz C [Option ID = 13720]

AW N =

Correct Answer :-
e A and B only/dbaer A siiz B [Option ID = 13717]

56) According to Dr Bhuwaneshwar Anuj:

A. "Sugga" and "Koot" stories fall under the category of Nagpuri prosody.
B. Children learn from the "Sugga" and the "Koot" stories.

C. The children do not learn any moral lessons.

D. Actually, these stories are indicators of a feminine tendency.

Choose the correct answer from the options given below:

3. YdoI%aR 3ofsl D IR

A. oIRIYSl oy ¢ e @ 3idsid ool 3iR ¢ DT 3l 8
B. Joom il @y wen 3 i a1 1918 frercdt 3

C. sl 3 sifer geoyfdr asga o1él it 3



D. ara 3 A weiforit T FAigfi bt gas T
offcl feu sru faredl 3 2 Al IR D1 WMol B :
[Question ID = 3431][Question Description = S2_qSNz_PG_TRL_Q56]

A and B only/dsaet A siiz B [Option ID = 13721]
C and D only/aaet C sfiz D [Option ID = 13722]
B and C only/dsaet B siiz C [Option ID = 13723]
B and D only/d@qet B 3iiz D [Option ID = 13724]

A W N -

Correct Answer :-
® A and B only/@act A 3iiz B [Option ID = 13721]

57) According to Dr Krishnadev Upadhyay:
A. The most important feature of a folk tale is that its writer is unknown.

B. Many many legends of Heer - Ranjha, Dhola - Maru, Vijaymal, Sorathi, Nadakwa Banjaara, Gopichandra and Raja
Bhartrihari are famous in North-India

C. But who has created these works is not hidden in the darkness.
D. It is not very difficult to find out who wrote which legend and in which era.

Choose the correct answer from the options given below:

31, GUIT IUTEART O AR :

A. diw - sl bl A 931 faduar as 3 foo sa®1 Fafear srsid glar 3

B. &z - 3iem, Gl - A1, fAsREICT, ARl slamen SolsIRI, sidldg 32 IS #A%erl 3fS &f soim smend et sra 3 yirg 3
C. u3eq soichl et fopol bl A8 sierpR @ o1 I fesur gai ordl @

D. fp21 wret 3 R smren 6t ool b2 IRh ot &l $ADT udl cPliol id Bfdd o1&l 3

ofia o s1u fwedl & A A8} SR @I wRI6 HifSTT :

[Question ID = 3432][Question Description = S2_qSNz_PG_TRL_Q57]

C and D only/a@aet C siiz D [Option ID = 13725]
B and C only/dact B sfiz C [Option ID = 13726]
A and B only/daet A siiz B [Option ID = 13727]
A and C only/@aa C siiz D [Option ID = 13728]

A W N -

Correct Answer :-
e C and D only/a@aer C 3iiz D [Option ID = 13725]

58) What is "Kohbar"?

A. The meaning of "Kohbar" is the cave of the Banyan tree.

B. It does not have beautiful pictures.

C. Its pictures are not very attractive.

D. The colours of the rainbow are not present in these pictures.
E. "Khoh" means room or cave.

Choose the correct answer from the options given below:

DIz aaT 3 ?

A. o @1 e T &= o1 Ws

B. 52 Weeza Riq @1 spi@ aar 3

C. sad firq 9ga snpd® ofdl Bl 3

D. sa faql 3 sog erell et fars ol St 3

E. %iiz ATol BRI AT 3[BT 3l 3

ofi o s1u fwsedl & A A8 IR BT WRI6l HIfRIT :

[Question ID = 3433][Question Description = S2_qSNz_PG_TRL_Q58]

A and B only/d>qet A siiz B [Option ID = 13729]
B and C only/@aet B siiz C [Option ID = 13730]
C and D only/dsaet C siiz D [Option ID = 13731]
A and E only/@aet A 3iiz E [Option ID = 13732]

A W N -

Correct Answer :-



® A and B only/@act A 3iiz B [Option ID = 13729]

59) What type of land is Jharkhand?

A. No tribe from outside the region, has settled in Jharkhand.

B. The evolution of the Aadiwaasi Sadan is not visible.

C. Jharkhand is the most ancient plateau in the world.

D. The Jharkhand plateau is one hundred and fifty million to three hundred million years old.
E. Primitive man did not live in Jharkhand.

Choose the correct answer from the options given below:

SIRIUS b yoR @I yxs 8 ?

A. sIREus 3 e oI Sfer odt &=t 3

B. snféarft AAcEll o1 faert @t f&ard ol Sard

C. sin¥s faea o1 Jalfrd grefioraa y-xvs 3

D. 3REvs &I yFUs 3G A el 3R ad yrron 3

E. sr¥vs 3nfe Aleld a1 ar Ferel oidl 61

ofid o s1u fwsedl & A A8 IR BT wRI6l HIRIU :

[Question ID = 3434][Question Description = S2_qSNz_PG_TRL_Q59]

A and B only/d>qet A siiz B [Option ID = 13733]
B and C only/@qet B 3iiz C [Option ID = 13734]
C and D only/daet C siiz D [Option ID = 13735]
D and E only/@aet D siiz E [Option ID = 13736]

A W N -

Correct Answer :-
e A and B only/@aet A siiz B [Option ID = 13733]

60) What is known as "Jado Patia"?

A. There is no prestige/respect in society.

B. "Jado Patia" exists in special areas of Santhal society.
C. These painters are believed to be Pujaris.

D. This is not a pat painting.

E. This is not understood as a picture of wisdom.

Choose the correct answer from the options given below:

SiGY ufen fopY war st 3 ?

A. JIrSt 3 Al - AIATST oISl BT 3

B. o<l uféen Jerer waret & a9 Siqi d yafer 2,

C. ¥ Rigor geirdl #ml Sid

D. =18 ua - Uféar ordl 3

E. 331 aqges o1 frq o1él FAron Sirar 3

i) feu s1u famedl 3 A A8 IR D1 WRIe BRI :

[Question ID = 3435][Question Description = S2_qSNz_PG_TRL_Q60]

1. A and B only/dact A siiz B [Option ID = 13737]
2. B and C only/dact B siiz C [Option ID = 13738]
3. Cand D only/a@ae C siiz D [Option ID = 13739]
4. D and E only/a@ae D siiz E [Option ID = 13740]

Correct Answer :-
e A and B only/daer A siiz B [Option ID = 13737]

61) What is the nature of the "Sarahul” festival?
A. There is no preparation for the advent of "Sarahul”

B. The marriage ceremony of the forest is observed during "Sarahul”.

C. "Sarahul” is a nature festival.



D. Aadiwaasis celebrate "Sarahul” throughout the year.
E. "Sarahul" is celebrated on the third day of "Chaitra” (The first Hindu month)

Choose the correct answer from the options given below:

IMgel o5 Yy oot ud 3 ?

A. I3EcT D IIPTHGT BT DI TS o1él BXet 3

B. J13get 3 Sivret @I 9Nt Icd HOIRI SIIAT 3

C. ge gl avs A yrapfers ud 3

D. snfeartl Fremst ad sr =g ol 3

E. da qdikn & S arege Aar 3

ofia 3w a1 fwcal 3 A A8 a2 ol :

[Question ID = 3436][Question Description = S2_qSNz_PG_TRL_Q61]

1. Aand B only/dact A siiz B [Option ID = 13741]

2. Band C only/dsaet B siiz C [Option ID = 13742]
3. Cand E only/@act C siiz E [Option ID = 13743]
4. D and E only/aaet D iz E [Option ID = 13744]

Correct Answer :-
® A and B only/d@aet A siiz B [Option ID = 13741]

62) According to Dr Krishnadev Upadhyay:

A. Labour songs are those songs that are sung while working.

B. Labour songs are songs sung when people dance.

C. Labour songs sing of a woman's distress because of separation.

D. Songs sung while grinding grains or planting paddy are labour songs.

Choose the correct answer from the options given below:

31. QU IUTERIRT D GIRIR

A. oprila d snd 3 Sit el BRI B BT IR I S 3

B. ot sfid 37 eRT @ sfia & S/ clleT ofrard @

C. ot afia 3 forsoft &Y waserar o1 quier alar &

D. aadhl fread R enel @ &Xq 3 Aol W, D sfia 9Jpt ofia &bt gjuft 3 sma &
i) feu s1u farmedl 3 A A8 IR D1 WRIe BRI :

[Question ID = 3437][Question Description = S2_qSNz_PG_TRL_Q62]

1. Aand C only/dact A 3iiz C [Option ID = 13745]
2. Cand D only/@qe C siiz D [Option ID = 13746]
3. Band C only/@ae B siiz C [Option ID = 13747]
4. Aand D only/a@act A siiz D [Option ID = 13748]

Correct Answer :-
e Aand C only/a>aet A siiz C [Option ID = 13745]

63) According to Dr Aditya Prasad Sinha:

A. The Sauriya Pahariya and the Maal Pahariya reside mainly in North Chotanagpur.

B. The Sauriya Pahariya and the Maal Pahariya are minority tribes of Dravidian descent.

C. The economic and social status of the Maal Pahariya is better than that of the Sauriya Pahariya.
D. Sauriya do not live on the mountains.

Choose the correct answer from the options given below:

31, sufeea g1 1081 @ SR

A. it gsIfsan 3R AreT UsIisA JIRIA: I3l BICT ollPIYR 3 §:Ad 3

B. if¥am usifSan siiz AT UsIfSAI gfds IeT D cu=ieA® S STotsiIfe 3

C. JAifyn usifsn & g s usifsn & sufdfa siiz ArnfSe Refer st



D. iifen usrEl uR oidl & 3
o f&u s1u farapeul 3 A 2t IR DI R DI
[Question ID = 3438][Question Description = S2_qSNz_PG_TRL_Q63]

A and C only/a@5aet A siiz C [Option ID = 13749]
C and D only/aaet C sfiz D [Option ID = 13750]
B and D only/d5aet B siiz D [Option ID = 13751]
B and C only/@aet B 3iiz C [Option ID = 13752]

A W N -

Correct Answer :-
® A and C only/dae A siz C [Option ID = 13749]

64) According to Dr Krishnadev Upadhyay:

A. In India, an Apsara (a beautiful woman) is visualised as a transcendental, divine and angelic person. People get enticed
by her transcendental beauty.

B. A fairy is known as a Pari in colloquial language and fairies/paris live in 'Paristaan’. Stories about fairies are not popular in
India, Arabia and Europe.

C. Stories of fairies helping humans are common.
D. They do not bestow wealth and prosperity on the people they are fond of.

Choose the correct answer from the options given below:

31, GOUIST SUTEART O AR :

A. ara ad 3 Rt &I weuon siciifipd fSwr aenr spierdi cafts @ u 3 &6 o1 & ordl siciifdpa I aXdl 3, PRI Swadm: die Alfda ar
SITeY

B. Wl oI ATENRYI diet - aret oI |l A U3’ sl SIAT 3 el $old foldRT FeIlel I URIFdlel HRA 3R a2l JRIU 3 sol uidl bl dari yRig
]

C. uf¥il GRI APl B IUPR Dol Bl 3o Bend yaferd 3

D. fSro1 caftpl Uz sordbl dpur Blefl & IoIdl A &rol - ero A ufeyuf 618l wxdl T

il fou o1 frpeul 3 A & IR BT a6l HIfSIE ©

[Question ID = 3439][Question Description = S2_qSNz_PG_TRL_Q64]

1. Aand C only/dact A siiz C [Option ID = 13753]
2. Aand B only/a@act A 3iiz B [Option ID = 13754]
3. Cand D only/a@ae C siiz D [Option ID = 13755]
4. B and C only/daet B 3iiz C [Option ID = 13756]

Correct Answer :-
e Aand C only/a>aet A siiz C [Option ID = 13753]

65) According to Dr Bhuwaneshwar Anuj:

A. There is a classical influence in folk-songs.

B. Folk songs paint a beautiful picture of human life.
C. Nagpuri songs do not include agricultural songs.

D. Nagpuri folk-songs are about social harmony.

Choose the correct answer from the options given below:

3. ol 31olST D ISR ©

A. cliw sfidl 3 o deret 3

B. clies fidl 3 el Sfiaet @1 Joez Riqgur siftpa 3

C. arergsl sfidl 3 oY ofia @1 spma

D. smergsl el sfidl 3 Arefe FaRIdar o vt frerd 3

ofi o s1u fwedl & A A8 IR @I wRI6T HIfvTT :

[Question ID = 3440][Question Description = S2_qSNz_PG_TRL_Q65]

A and C only/a@ae A siiz C [Option ID = 13757]
B and D only/dact B sfiz D [Option ID = 13758]
. Cand D only/dsaet C siiz D [Option ID = 13759]
B and C only/@qet B siiz C [Option ID = 13760]

AW N -



Correct Answer :-
e Aand C only/a>aet A siiz C [Option ID = 13757]

66) Match List | with List Il

List | List Il

A. Siddhu 1. 1815
B. Veer Telanga Khadiya Il. 1806
C. Thakur Vishwanath Shahi [lll. 1817
D. Sheikh Bhikhari IV. 1819
Choose the correct answer from the options given below:

forgsifeiRaa it ol Iotd Steafafd o Arer JAfera HIfSe :
et -l oot 3 -1l A Fgafera HifSre :

et -1 et -l

A. Rrg, l. 1815 5.
B. iz aciom e II. 1806 s.
C. o Rsaoner ondt . 1817 5.
D. 9 - Bt IV. 1819 5.

il fou s1e fyseul 3 I A8 IR gfom ©
[Question ID = 3441][Question Description = S2_qSNz_PG_TRL_Q66]

A-1V,B-1l,C-1ll,D- | [Option ID = 13761]
A-1,B-1l,C-1ll, D - IV [Option ID = 13762]
. A-1ll,B-1V,C-1,D- Il [Option ID = 13763]
A-11,B-1,C-1V, D - lll [Option ID = 13764]

A W N -

Correct Answer :-
e A-IV,B-1l,C-1l,D-I[Option ID = 13761]

67) Match the ornaments popular in the Jharkhand Region in List | with associated body parts in List I

List | List Il
Ornaments Body Parts|
A. Girdle I. Waist

B. Bangle (Lahti)ll. Hand
C. Taraki lll. Ear

D. Chhuchhi IV. Nose

Choose the correct answer from the options given below:

It -1 @t 3l -1l A Fafera Hifsie :
fogsifeiRaa siREs iq 3 gaferd smsuul ol 98k @ 31l @ Arer Jaferda HIfde

ot -1 ot -l
(31r9geIoT) (9RR @ 3ia1)
A. el |. @

B. c&dt 1. arex

C. azbt Ill. @ret

D. ggl IV. sl

il fou s1e frseul 3 3 A8 IR gforw ©
[Question ID = 3442][Question Description = S2_qSNz_PG_TRL_Q67]

A-1V,B-1l,C-1,D-Ill [Option ID = 13765]
A-1,B-1ll,C-1,D -1V [Option ID = 13766]
A-1,B-1l,C-1l,D-IV[Option ID = 13767]
A-11,B-1l,C-1,D -1V [Option ID = 13768]

A W N -

Correct Answer :-
e A-IV,B-1l,C-1,D-Ill [Option ID = 13765]

68) Match the magazines in List | with their editors in List I

List | List Il
IMagazines Editors
A. Nagpuri I. Yogendranath Tiwari

B. Jai Jharkhand |ll. Dr. B. P. Keshari
C. Shankhnaad |lll. Ranjeet Senapati
D. Dahar IV. Ishwari Prasad




Choose the correct answer from the options given below:

I -l @ = -1l A gafera Hifsre ¢
forgaiferRaa JFurcdl B GRI YoIfdrd ufefm! o1 ol Idifera difsre :

Rpet -1 il

A. oIergst |. AMProgatrer ferarst
B. ™I sIRES Il. Si. & di. Ddorst
C. oixeiic lll. echa Ademafer
D. s32 IV. $eadl grirg

il feu aru famedl 3 A 8 3R gforu :
[Question ID = 3443][Question Description = S2_qSNz_PG_TRL_Q68]

A-1,B-1I,C-1ll, D - IV [Option ID = 13769]
A-1V,B-1,C-1ll,D - Il [Option ID = 13770]
A-1,B-1V,C-1I,D - lll [Option ID = 13771]
A-1V,B-1l,C-ll, D - | [Option ID = 13772]

A wWw N =

Correct Answer :-
e A-I,B-1l,C-Ill,D-IV[Option ID = 13769]

69) Match the revolts of the Jharkhand Independence movement in List | with their respective periods in List Il

List | List Il

Revolt Period

IA. Pahadiya Revolution|l. 1788 - 1789 C. E.
B. Sanyasi Revolution |Il. 1763 - 1800 C.E.
C. Choeed Revolution |lll. 1798 - 1799 C. E.
D. Kol Revolution IV. 1831 - 1833 C. E.
Choose the correct answer from the options given below:

gt -1 @t 3t -1l A Fafera Hifsie :
forsifeiRaa smREE3l eIl @ QIR @1 @rel A Jdfera HIfd

et -1 et -1

A. ueifyar Rigs . 1780 - 1790 &.
B. roemeft Ridls II. 1763 - 1800 &.
C. <lars s 1. 1798 - 1799 &,
D. ®ia Rdls IV. 1831 - 1833 &,

offa fou o1 freseul 3 3 A IR gforw ¢
[Question ID = 3444][Question Description = S2_qSNz_PG_TRL_Q69]

A-1,B-1l,C-1l, D -1V [Option ID = 13773]
A-1V,B-1,C-1l,D-Ill [Option ID = 13774]
A-1Il,B-1Il, C-1V,D-I[Option ID = 13775]
A-1,B-1V,C-1l,D-Ill [Option ID = 13776]

AW N -

Correct Answer :-
e A-I,B-1l,C-Ill,D-IV[Option ID = 13773]

70) Match a Khariya woman's ornaments in List | with the body parts they adorn in List Il

List | List Il

Ornaments  |Parts of the bodyj
A. Hasali I. Wrist

B. Bahuta Il. Neck

C. Chura Pattallll. Arm
D. Mundari  [IV. Fingers
Choose the correct answer from the options given below:

Lt -l oot 3Eh -1l A gafera HifSie :
wirn Rl @ 3myuvll @l 3eId> Usslol dicl 3ol @ ATl Jdferd Hifsm :

et -1 et -1l
(amywon) (aio1)

A. s3cil |. wors
B. sger Il. arer
C. g1 uenr Ill. sis




. #ic8

IV. Serferei

il fou s1e fyseul 3 3 A IR o ©

[Question ID = 3445][Question Description = S2_qSNz_PG_TRL_Q70]

A W N -

Correct Answer :-

A-1ll,B-1V, C-1l, D - | [Option ID = 13777]
A-11,B-1Il,C-1,D- IV [Option ID = 13778]
A-1,B-1V,C-II, D - lll [Option ID = 13779]
A-1V,B-1l,C-1ll, D - | [Option ID = 13780]

e A-1ll,B-1V,C-Il,D- I [Option ID = 13777]

71) Match the texts in List | with their authors in List Il

List | List 1l
Books Authors
A. Ranga Lathi I. A. K. Jha

B. Malik Puthil

Il. Shiv Nath Pramanik

C. Sair Sagrathh

Ill. Vishwanath Dasoundhi Raj

D. Maichhgandha

IV. Vishwanath Nagar

Choose the correct answer from the options given below:

It -1 oot 3t -1l A Fafera Hifsre :
forgatferRaa zactsil @I So1d> elpRl @ el Jafera Hifsru :

et -1 et -l

(Fromd ) (FTroTIDRR)

A. s cIrst l. g. &. =

B. s yersa 1. Rraetrer ganfdres

C. 332 IBRO 111, fereactrer griielt =t
D. sisooien IV. faegetier s

off fou s1u frpeul 3 3 A IR gforw ©
[Question ID = 3446][Question Description = S2_qSNz_PG_TRL_Q71]

A-1V,B-1ll, C-1,D - Il [Option ID = 13781]
A-1I,B-11,C-1V, D - [Option ID = 13782]
A-11,B-1,C-1ll,D- IV [Option ID = 13783]
A-1,B-1V, C- 1, D - Ill [Option ID = 13784]

A W N -

Correct Answer :-
e A-IV,B-1ll,C-1,D- Il [Option ID = 13781]

72) Match List | with List Il

List | List Il

Poems Poets

A. Parem Bada chuilam Nemain|l. Dr Damyanti Sinku
B. Lako Bodra Il. Kamal Lochan Kodah
C. Jonom Has lll. Ghanshyam Gagrai
D. Rumul Ken Birsa IV. Sagar Pat Pingua
Choose the correct answer from the options given below:

It -1 Bt el -1l A gakma Hifde
' &' SRl B Sord Bl B e AT HIR ©

Rpet -1 Rzl -1

(epfarard) (eofar)

A. T3 SIST g5l oldnpT |. 3i. gIrict Riay,
B. ¢ diga |l. SacIclel DISIC
C. Siielia g lll. Tre19am31 SIPRIE
D. 33et dol fd=zmn IV. JIPR ure ftsgar

oifl feu aru famedl 3 A A8 3R gfore :
[Question ID = 3447][Question Description = S2_qSNz_PG_TRL_Q72]

1. A=, B-11,C-1,D- IV [Option ID = 13785]
2. A-1,B-1Il,C-1V, D - Il [Option ID = 13786]
3. A-1I,B-1,C-1V, D - Ill [Option ID = 13787]
4. A-1IV,B-1l,C-1ll,D- 1| [Option ID = 13788]

Correct Answer :-



e A-IlIl,B-1l,C-1,D-IV[Option ID = 13785]

73) Match the various folk dances of Jharkhand in List | with the Tribes in List Il

List | List Il

Folk Dances Name of the tribes|
A. Donged dance |l. Oraon

B. He-ro dance |ll. Khadiya

C. Kinbhar dance [lll. Santhal

D. Dhudiya dancellV. Ho

Choose the correct answer from the options given below:

It -1 o1 3t -1l A Fafera Hifste ¢
SRS @ fAf¥ieol cllmoicdl @l Ioid SHicPIA olidl d> AT Jdfera HifSig;

et - | et -1l
(clieDge) (snférore oirer)
A. QIoIS ofer |. 3da

B. 3-3 gcar I1. wfar

C. fopolirR oJeax Ill. sdarer

D. gf¥am gy IV. 3t

offa fou o1 fRrpeul 3 3 A I gforw ©
[Question ID = 3448][Question Description = S2_qSNz_PG_TRL_Q73]

A-11,B-1,C-Ill, D - IV [Option ID = 13789]
A-1,B-1I,C- 1V, D - Il [Option ID = 13790]
A-1ll,B-1V, C- I, D - | [Option ID = 13791]
A-1V,B-1ll, C-1,D - Il [Option ID = 13792]

A W N -

Correct Answer :-
e A-Il,B-1,C-Ill,D- IV [Option ID = 13789]

74) Match the Nagpuri folk ragas in List | with the times that they are sung in List Il

List | List Il

Name of the Rag [Time

A. Jhingphulia Ragl. Midnight

B. Adhratiya Rag |[Il. Evening

C. Bhinsariya Rag [lll. Before sunrise

D. Behaniya Rag |IV. Last watch (Pahar) of night
Choose the correct answer from the options given below:

It -l @1 It -1l 2 Fafera Hifsme ¢
SIRIYS cligsofld & eIl Bl 3R Sirol ardl Yg2 & ATl Jafera Hifsme ¢

Rxet -1 rxeh -1

(2m1) (us2)

A. Biersferm et |. @e=r a1ty

B. srerferRm o1 11, Jieam R

C. firerafy=m o1 Ill. Iifcar @ gd

D. feifor 311 V. fey o1 sifersr gse

ofla 3w o1 el 3 A At W= gfom :
[Question ID = 3449][Question Description = S2_qSNz_PG_TRL_Q74]

A-1l,B-1,C-1IV,D-Ill [Option ID = 13793]
A-1,B-1V,C-1ll, D -1l [Option ID = 13794]
A-1I,B-1l,C-1,D -1V [Option ID = 13795]
A-1V,B-1ll,C-Il, D-1[Option ID = 13796]

AW N =

Correct Answer :-
e A-Il,B-1,C-1V,D-Ill [Option ID = 13793]

75) Match the authors in List | with the languages they write in, in List Il

List | List Il
IAuthors Languages
A. Sahani Upendra Pal |l. Santhali
B. Raghunath Murmu |ll. Ho
C. Lakshman Solanki  [lll. Nagpuri




|D. Anant Kumar Pingna|IV. Mundari
Choose the correct answer from the options given below:

gt -1 @t 3t -1l A Fafera Hifsre :
forgotferRaa craapl dY JoTd e & 1er IAferda Hifste :

et -1 il
(cra) (s1rers)
A. el 3Ug urer I. vdemett
B. goirer 33, II. &

C. c1gHuT Alcibl lll. smergst
D. sfeid @AR ftsrel IV. gusrst

il fou s1e frseul 3 I A8 IR o ©
[Question ID = 3450][Question Description = S2_qSNz_PG_TRL_Q75]

A-11,B -1V, C-1ll, D - | [Option ID = 13797]
A-1ll,B-1,C-1V,D - Il [Option ID = 13798]
A-1V,B-1l,C-1,D - Il [Option ID = 13799]
A-1,B-1ll, C-1I, D - IV [Option ID = 13800]

A W N -

Correct Answer :-
e A-Il,B-1V,C-1ll, D-I[Option ID = 13797]

76) Arrange the following movements in chronological sequence from the earliest to the most recent:
A. Chotanagpur Tenancy Act

B. Kol Insurrection

C. Sardar Larari

D. Birsaite Movement

Choose the correct answer from the options given below:

forgsifeiRan snecicioll Bl AT YRIol A AR BIcl AP D PICHIDRIID oIl 3 Rraled dHifste :
A. SicrepIgR e sif2iform

B. e faera

C. IcR aAIrl

D. ferar$ siicicrot

il feu srv fareedl 3 A A8 IR @1 TRIel B ¢

[Question ID = 3451][Question Description = S2_qSNz_PG_TRL_Q76]

B, C, D [Option ID = 13801]
C, D, A [Option ID = 13802]
, D, A, B [Option ID = 13803]
A, B

1
2
3.
4 , B, C [Option ID = 13804]

Correct Answer :-
e A, B, C, D[Option ID = 13801]

77) Arrange the marriage ceremonies of the tribals of Jarkhand in sequence.
A. Neg Jhara

B. Puna Pahi

C. Pello Pahi

D. Lota Pani

E. Konha Pahi

Choose the correct answer from the options given below

SIR¥US Bl SlofSliicrRIl @ faargicadl @l Juildg Hifs :
A. o1 3IRT
B. goir urél
C. Uil urdt



D. eler ursft

E. olcar uiél

il fou s1u fyeseul 3 31 & Fa= goi ¢

[Question ID = 3452][Question Description = S2_qSNz_PG_TRL_Q77]

B, D, C, E, A [Option ID = 13805]
A, B, C, D, E [Option ID = 13806]
C, D, E, A, B [Option ID = 13807]
D, E, A, B, C [Option ID = 13808]

» Uy

» Y

A W N -

y By Ay

Correct Answer :-
e B, D, C, E, A[Option ID = 13805]

78) Arrange the annual tribal festivals of Jharkhand in a sequence.
A. Faggun

B. Sehrai

C. Mudma Jatra

D. Karam

E. Sukan Buru

Choose the correct answer from the options given below

SRS I SToISIKIRI 3l & AIftics 3IRISIGll BT Udl cos :
A. wRLo

B. Az

C. gsar siqr

D. ®ra

E. Jgwor g3

il feu aru farasedl 3 A A8 Ia= ol ¢
[Question ID = 3453][Question Description = S2_qSNz_PG_TRL_Q78]

E, D, C, B, A [Option ID = 13809]
D, C, B, A, E [Option ID = 13810]
A, D, C, B, E [Option ID = 13811]
B, C, D, E, A [Option ID = 13812]

A w N =

)

Correct Answer :-
e E D, C, B, A[Option ID = 13809]

79) Arrange the following Ho literary works chronologically.
A. Jaidev Abhinav's "Sarjomba Dumba"

B. Sukumar Haldar's "Ho Folk Songs"

C. Gopi Nath Sen's "Songs of Hos"

D. W. G. Archer’'s "Ho Durang"

E. Kanu Ram Deogam's "Ho-folklore in English Translation"

Choose the correct answer from the options given below

forgotferfRaa "at' i3 feares Faend wa yooifdra &3 :

A. sriIgq sifirera o1 TRl SEEr

B. JpAR sclc @I "8l B AHieA'"

C. aidioirer et @1 "AHisA i 31"

D.soqy 1. amefz @1 " A ger”

E. ool 211 a2 &1 "8l BId - R 3ol $f3e191” glRICIOT

ofial e s1u fmel 3 A 8t 3= ol :

[Question ID = 3454][Question Description = S2_qSNz_PG_TRL_Q79]

1. B, E, C, D, A [Option ID = 13813]
2. A, B, C, D, E [Option ID = 13814]



3. B, C, D, E, A [Option ID = 13815]
4. C,D, E, A, B[Option ID = 13816]

Correct Answer :-
e B, E, C, D, A[Option ID = 13813]

80) Arrange the following publications of Kudukh Folk Literature chronologically.
A. W. G. Archer's "The Blue Grove"

B. Rev. F. Hahn's "Kudukh Folk-Lore"

C. Rev. F. Hahn, W. G. Archer & Dharamdas Lakra's “Leel - Kho - Ra - Kho - Khel"
D. W. G. Archer's "The Dove and the Leopard"

E. A. Gringard's "Kudukh Folk-Lore"

Choose the correct answer from the options given below

Wog il AMBA D YDIIG B PICIRdA DI Udl cleIsy &

A. sec1 Sit, smelk @1 ' & et

C. Ya. uw 3rel, Socg Sil. smefs SR eicrT eraar @1 “eler - I - 3 - @r - ="
D. seqz il smelk @t s 39 Us ¢ cus”

E. u. sfiorensa @I "dgogE BIddlR”

offa fou s1u fyeseul 3 2 & 3a= goi ¢

[Question ID = 3455][Question Description = S2_qSNz_PG_TRL_Q80]

1. A, B, C, D, E [Option ID = 13817]
2. B, E, D, C, A [Option ID = 13818]
3. C, D, E, B, A[Option ID = 13819]
4. D, E, A, B, C [Option ID = 13820]

Correct Answer :-
e A B, C, D, E[Option ID = 13817]

81) Arrange the following folklorists in order of their contributions as per Dr B. P. Keshari
A. Richard Temple

B. Sir William Jones

C. Col. James Ted

D. William Thoms

E. John Aubre

Choose the correct answer from the options given below

3t i di. Dorst B IIAR Db - BT - 31ERIGT A bl A BT ?

A. B3 eua

B. R fafermr siia

C. olet S 2is

D. fafermr effozt

E. Sifet 3ii3q

ofid fou s1u feseal & A A8 IR BT wRI6T BT :

[Question ID = 3456][Question Description = S2_qSNz_PG_TRL_Q81]

B, A [Option ID = 13824]
, D, E [Option ID = 13821]
E, A [Option ID = 13822]
D, A [Option ID = 13823]

A w N =

Correct Answer :-
e A B, C, D, E[Option ID = 13821]

82) Arrange the martyrdom of Jharkhandi heroes chronologically, from the earliest to the most recent

A. Telanga Kharia



B. Budhu Bhagat

C. Tilak Manjhi

D. Neelambar Pitambar
E. Albert Ekka

Choose the correct answer from the options given below

SIRFUS] dRRI bl 9BIed DI DITRAGRIR ifdifeiRaa o3 :

A. dcion T

B. g a1

C. oo #ish

D. olicieer diapeR

E. srcaé gamr

ofi o s1u fweal & A A8 IR BT WRI6l HIRIU :

[Question ID = 3457][Question Description = S2_qSNz_PG_TRL_Q82]

C, D, E [Option ID = 13825]
D, E, A [Option ID = 13826]
, A, B, C [Option ID = 13827]
D, A, E [Option ID = 13828]

)

AL\JN—\

’

Correct Answer :-
e A B, C, D, E[Option ID = 13825]

83) Arrange the chronology of the Nagbanshi Rajas, from the earliest to the most recent, according to the "Nagbansawali"
A. Madhu Singh

B. Pratap Rai

C. Fani Mukut Rai

D. Durjan Sal

E. Pratap Karn

Choose the correct answer from the options given below

‘SIPIG9Idcil’ @ 36AR SRl SIS B PIcIapd DI Udl ¢ieI :

A. a1g Ris

B. gamu rx

C. wiv1 gme R

D. gslor Ar1eT

E. gama wmvt

il feu aru faresedl 3 A A8 IR D1 WRIel B :

[Question ID = 3458][Question Description = S2_qSNz_PG_TRL_Q83]

1. A, B, C, D, E [Option ID = 13829]
2. C, B, E, A, D [Option ID = 13830]
3. B, C,D,E, A[Option ID = 13831]
4. D, E, A, C, B[Option ID = 13832]

Correct Answer :-
e A, B, C, D, E[Option ID = 13829]

84) The earliest evidence of political organization in the Chotanagpur region is from a Munda system that dates back to 600
BCE. Arrange the following chronologically

A. Raja
B. Pathi
C. Munda
D. Manki
E. Village



Choose the correct answer from the options given below:

BT SIRIYR &i) A ASIolfcrd HFeATell I Adgea A1eA 331 gd 600 adf yrrel JusI ddq A 3 A8t Juil bl Faen @3 :
A. I

B. uf

C. gust

D. srerdbt

E. siia

ofid o s1u faseal & A A8 3R BT wRI6T HIfRIU :

[Question ID = 3459][Question Description = S2_qSNz_PG_TRL_Q84]

1. A, B, C, D, E [Option ID = 13833]
2. B, C, D, E, A[Option ID = 13834]
3. E, C, B, D, A[Option ID = 13835]
4. C,D, E, B, A[Option ID = 13836]

Correct Answer :-
e A B, C, D, E[Option ID = 13833]

85) Arrange the following works of Santali literature chronologically
A. Nunku Soren’'s "Muhile Chechet Dai"

B. P. O. Boading's "Hod-Kahani Ko"

C. W. G. Archer's "Hod-Sereng"

D. R. R. K. Rapaz's "Handmawak A to"

E. Balkishore Basuki's "Kukmu"

Choose the correct answer from the options given below:

PICIRATGRIR Aeurell Afdea & fa®rRI vd Agly o1 udar cese ©

A. g1 36 @1 " f3ckRIe s1E”

B. di. 3it. if¥sa1 @1 "3fs warh B

C. seqg sit. sk @1 "3fs IWeT”

D. 3. 3IR. &. JAUTSI DI "SUSHIAID 31Tl

E. srcifponk arydl o1 "wady

il feu sru el 3 A A8 IR DI WRIel B :

[Question ID = 3460][Question Description = S2_qSNz_PG_TRL_Q85]

1. A, B, C, D, E [Option ID = 13837]
2. B, C, D, E, A [Option ID = 13838]
3. C, D, E, A, B [Option ID = 13839]
4. B, C, D, A, E [Option ID = 13840]

Correct Answer :-
e A, B, C, D, E[Option ID = 13837]

86) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Art is a systematically and aesthetically organised expression.
Reason R: An organised and aesthetic expression is art.

In light of the above statements, choose the most appropriate answer from the options given below :

il St werel i3u s1e 3@ uwap sifdraseret (Assertion A) @ %u 3 iz ¢RI 3ud> ®RuT (Reason R) @ w4 3 :
aifdrseret (A) : srequl oo wrafera der i snfa aficafRs 3

®Rul (R) : wWeda <raf¥ea aun Aict snfda sifireafts & wen 3

SURITE Dol D 3l A, ofld fGu famcal 3 A 73l 3a= &1 wRIel Hiforw :

[Question ID = 3461][Question Description = S2_qSNz_PG_TRL_Q86]



Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) cleil 38t & 3k (R), (A) &t 3 =mrz=n & [Option ID = 13841]

Both A and R are correct but R is NOT the correct explanation of A/(A) 3iiz (R) cleil 31dt & wesq (R), (A) &t 3 waren o1dt & [Option ID = 13842]
A is correct but R is not correct/(A) &t @ weoq (R) 2@t oét & [Option ID = 13843]

A is not correct but R is correct/(A) & oét 2 weag (R) 3 & [Option ID = 13844]

A W N -

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) 3iz (R) glail 3@t 2 3z (R), (A) &t & areen @ [Option ID = 13841]

87) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Human beings composed literature in order to express and stabilise their emotions.
Reason R: The sense of expression comes with knowledge, but knowledge does not have the intensity of emotions.

In light of the above statements, choose the most appropriate answer from the options given below :

ofid ot Pl fGu st 3 @ U sifdrerst (Assertion A) @ ¥u 3 3R eI 3@ BRI (Reason R) @ »u 3 :
sif3rperet (A) @ A SIRI 3Uol 1Al DI MMRTD Dol 3R Ioa Rerdr Sol bl sIaelr A AR BT STod 3T
@rur (R) : sifdrcafs &t sirgorn sirer 2 oft it 3 uReq 6T & sirdon & figar ot Bt
SWRITP Pall D el A, offd fBu fasedl 3 A A8 Iar &1 aRIet Hifste :

[Question ID = 3462][Question Description = S2_qSNz_PG_TRL_Q87]

Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) cleil @t & 3z (R), (A) &t 3 =mzn & [Option ID = 13845]

Both A and R are correct but R is NOT the correct explanation of A/(A) siiz (R) cleil 31dt & wesq (R), (A) &t 3 ware=n o1dt & [Option ID = 13846]
A is correct but R is not correct/(A) 3@ @ weoq (R) 2@t odt & [Option ID = 13847]

A is not correct but R is correct/(A) & ot 2 weag (R) 3t & [Option ID = 13848]

A W N -

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) cleil 3@l & 3z (R), (A) &t 3@ =mrz=n & [Option ID = 13845]

88) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Language is a medium of communication.
Reason R: We understand the experiences and thoughts of each other through the medium of language.

In light of the above statements, choose the most appropriate answer from the options given below :

ofi<l S ool fGu are 3 : uwop sifdrpere (Assertion A) @ wu 3 3l ¢RI 3AD BRI (Reason R) @& »u & :
sif3rperet (A) @ 8T JAYHOT BT ATeroT e ARRET 3

@RI (R) : HIST @ HAEAH A &A TD gAY D 3foidl, ferart A sraard a3

JWRITD Dl D ATl 3, ofid Gu Rreaseul 3 2 7 R &1 T™IaT Hifste ¢

[Question ID = 3463][Question Description = S2_qSNz_PG_TRL_Q88]

Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) cleil 3@t & 3z (R), (A) &t 3 wmen 8 [Option ID = 13849]

Both A and R are correct but R is NOT the correct explanation of A/(A) 3iiz (R) Sleil 31& & uesq (R), (A) &t 3 wren o1dt & [Option ID = 13850]
A is correct but R is not correct/(A) 3@t 8 uzsqg (R) @t o8t & [Option ID = 13851]

A is not correct but R is correct/(A) 3@t o8l 8 uzoq (R) 2@t 8 [Option ID = 13852]

A W N -

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) 3z (R) cleil 3@t & 3z (R), (A) &t 3@ =mz=n & [Option ID = 13849]

89) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Music is the most melodious genre of culture.
Reason R: An Akhara is the centre of all games.

In light of the above statements, choose the correct answer from the options given below :

ofl 3l Berel fRu sre 3@ up sifdraperst (Assertion A) @ »u 3 iz ¢RI 3@ PRUT (Reason R) & wu 3 :
sifSrperet (A) : Jdvapfer &bl agRan foren 3 vsha

BRI (R) : 3RS Wel - GG BT DG &

JWRITD Bl D ATl 3, ofid Gu el 3 2 1 IR b1 T™IaT Hifte ¢

[Question ID = 3464][Question Description = S2_qSNz_PG_TRL_Q89]



. Both A and R are true and R is the correct explanation of A/(A) 3iz (R) cleil 3t & 3ik (R), (A) &t 38 == 8 [Option ID = 13853]

. Both A and R are true but R is NOT the correct explanation of A/(A) 3l (R) g6l &t & wag (R), (A) &l 3t e oiét 8 [Option ID = 13854]
. Ais true but R is false/(A) 2@l & weog (R) 3@t ot € [Option ID = 13855]

. Ais false but R is true/(A) 3@ orét & wssqg (R) &t @ [Option ID = 13856]

A W N -

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) gleil 2t & 3iik (R), (A) &t 38 == 8 [Option ID = 13853]

90) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: The nature, culture and language of Jharkhand society are the same.
Reason R: Jharkhand society is composed of the Aadiwaasis and the Sadaans.

In light of the above statements, choose the correct answer from the options given below :

ofid ot Pl fGu s1e 3 @ U sifdrerst (Assertion A) @ ¥u 3 3R eI 3@ BRI (Reason R) @& »u 3 :
siffrperet (A) : sIRwst Jarst b yofe, dAvafer siiz s go 3

@Rl (R) : sREES Jars & e snfeardt Fcrer &t Hsnfrar 2 58 3

SWRITD DUl D ATelD 3, ofid Gu el 3 2 A& I &1 ™I Hifste ¢

[Question ID = 3465][Question Description = S2_qSNz_PG_TRL_Q90]

. Both A and R are true and R is the correct explanation of A/(A) 3iz (R) cleil 3=t & 3ik (R), (A) &t 3d =me=n 3 [Option ID = 13857]

. Both A and R are true but R is NOT the correct explanation of A/(A) 3iz (R) glail 3t & weag (R), (A) &t 31t e oidt & [Option ID = 13858]
. Ais true but R is false/(A) 3@ 8 u3sg (R) 3@ ordt 8 [Option ID = 13859]

. Ais false but R is true/(A) 3@ oiét & weoqg (R) 3@t @ [Option ID = 13860]

A W N -

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) siiz (R) gleil 2t 8 3iiz (R), (A) &t 38 == 8 [Option ID = 13857]

Topic:- 70Tribal_B

1 ) Read the given passage and answer the questions that follow:

All along the three epochs of Satayuga-Treta-Dvapar, Vedic hymns and mantras were composed by learned sages from time to time and the same used to be
orally recived and heard. Among the creators of these hymns and mantras, there were sage mendicants, Kings, Sudras and also women. It appears that from
the very beginning, there were two streams of Vedic Sages - First, Rik and the second, Mantra. Mantra belonged to the Atharva branch. The Sages Angira

and Angiras of Atharva belonged to the same Gotra. Atharvavarna, Angiras, Bhrigu, Jamdagni Atri, Vashistha, Bhardwaj, Gautam, Kashyap, Agastya, Kanva and

Angira were among the most ancient aphorists, who were probably heads of major Aryan and Deva families.

The first hymns were composed during the Chakshuk Manu period in the Satayuga. Thereafter, Adityas and Bhrigus continuously created hymns and
mantras in Devlok. The Aryans too, added to the mantras and hymns after their arrival in India. Thus, the creation of the Vedas continued for around 1400
years from 2493 BCE in the Chakshuka Manu period to 1100 BCE in the Yudhishthira period.

forroifeiRaa uf¥cde o ugm: ofla Xu a1w gesil @ Ia= difSie :

AT - AT - STUR Fol cilol Ioli 3 fordar AP SFard 3R Fod] AR - AIFA TR Aerrdl SBRRI TRT doral 33, Si FHifers w4 3 UG - ol ST A gol >paraili iz A D forarfor 6y
orSIa oft &, Irem oft &, org oft & siiz R off off Yo yefla 3ien 3 b smedsr 81 1 A >BRRIT &Y 31 aRIe et off - v sho gardt dioq| o) srerd omar @ & srerd @ >BRY SifdRr
31z SBRA S & A2 yrflol JrpopRI & sterdul, 3ifSR3, 9191, SR 3ifey, afdres, sIRgTSI, siiad, ©9AU, 3PRI, BUd 3R PRI &; St Heraa: il 3k ¢4l & yIa @gFdl D
ARam &

AaYS1 A ALY ol DIt A Y SFad Tofl 3D arc Saciles A nfeel iz 9330 of spard aen #oqi o1 orar forafor e sira 3 ot U= It of oft A gfy Bt 531 YR ASK @1
foraifor agry gy A fefto: et aw €. €. 2493 A 1100 ££. ao cener 1400 auf ao Broar diar w1

What is the appropriate title for this passage?

3 3IgIcdS BT Iueh ofiefas o= 3 ?

[Question ID = 3466][Question Description = S2_qSNz_PG_TRL_Q91]
1. Composition of Vedic Hymns and Mantras/df&d sars aiiz #oq) o1 forefor

[Option ID = 13861]
2. Composition of Cosmic Tales/cilfdoas aenait a1 forfor

[Option ID = 13862]
3. Sage Clan/sft @et



[Option ID = 13863]
4. Varna System/aquf crazen

[Option ID = 13864]

Correct Answer :-
e Composition of Vedic Hymns and Mantras/&f¢e ssare siiz ot a1 fortor
[Option ID = 13861]

2) Read the given passage and answer the questions that follow:

All along the three epochs of Satayuga-Treta-Dvapar, Vedic hymns and mantras were composed by learned sages from time to time and the same used to be
orally recived and heard. Among the creators of these hymns and mantras, there were sage mendicants, Kings, Sudras and also women. It appears that from
the very beginning, there were two streams of Vedic Sages - First, Rik and the second, Mantra. Mantra belonged to the Atharva branch. The Sages Angira

and Angiras of Atharva belonged to the same Gotra. Atharvavarna, Angiras, Bhrigu, Jamdagni Atri, Vashistha, Bhardwaj, Gautam, Kashyap, Agastya, Kanva and

Angira were among the most ancient aphorists, who were probably heads of major Aryan and Deva families.

The first hymns were composed during the Chakshuk Manu period in the Satayuga. Thereafter, Adityas and Bhrigus continuously created hymns and
mantras in Devlok. The Aryans too, added to the mantras and hymns after their arrival in India. Thus, the creation of the Vedas continued for around 1400
years from 2493 BCE in the Chakshuka Manu period to 1100 BCE in the Yudhishthira period.

foraifeiRaa uf¥cdc @1 ugm: ofia 3y 31w yesil & 3= difsre ©

AAYDT - JAI - ST Fo oflel Joll A Forar Afdw sFand siie FHoe| A - IR U Aendl BRI FRI Jord 38, S #Hlferd ¥4 3 us - Jol SIA A 3ol Sparsii 3R Aqt & forarfor >pfY
TSI oft &, Irem oft &, org oft & sz R sft off Vo yefta dier 3 b smeasr 8t 1 Afde SBRRIT &Y 31 amRIe et off - v shas grdt Aoq| Aoy srerd omzar @ & srerd @ SBRY SifdRr
iz sifdrar olit & 1wt yrefler yrpopRI 3 srerdur, 3ifdRaT, 991, sarclar sife), afdres, MRETSI, siiad, ®9AU, PRI, BUd IR PRI &; St HAvad: rif 3iiz 34l & ygra ol D
FhRaar &

AaPo1 A A o] DIcl A YAH SpaiS Tofl 33D arc Jacil A nfeel iz yaysil of spard aen HAoqi o1 forar forafur Roen sa 3 ol uz st of oft 333 gfy B 531 yoor A<k @1
forafor gy gy A Yfeiftss wrer aw €. €. 2493 A 1100 ££. ao cener 1400 auf ao foroaz diar w1

In which form were the hymns and mantras available?

Afeen >pard 3R #iq e su i g & ?

[Question ID = 3467][Question Description = S2_qSNz_PG_TRL_Q92]
1. Written form/feiRaa su

[Option ID = 13865]
2. Oral form/aiif3a® su 3

[Option ID = 13866]
3. As plays/sica 3u 3

[Option ID = 13867]
4. In Standard Language form/aeid #iar 3u 3

[Option ID = 13868]

Correct Answer :-
e Written form/fi3aa su 3
[Option ID = 13865]

3) Read the given passage and answer the questions that follow:

All along the three epochs of Satayuga-Treta-Dvapar, Vedic hymns and mantras were composed by learned sages from time to time and the same used to be
orally recived and heard. Among the creators of these hymns and mantras, there were sage mendicants, Kings, Sudras and also women. It appears that from
the very beginning, there were two streams of Vedic Sages - First, Rik and the second, Mantra. Mantra belonged to the Atharva branch. The Sages Angira

and Angiras of Atharva belonged to the same Gotra. Atharvavarna, Angiras, Bhrigu, Jamdagni Atri, Vashistha, Bhardwaj, Gautam, Kashyap, Agastya, Kanva and

Angira were among the most ancient aphorists, who were probably heads of major Aryan and Deva families.

The first hymns were composed during the Chakshuk Manu period in the Satayuga. Thereafter, Adityas and Bhrigus continuously created hymns and
mantras in Devlok. The Aryans too, added to the mantras and hymns after their arrival in India. Thus, the creation of the Vedas continued for around 1400
years from 2493 BCE in the Chakshuka Manu period to 1100 BCE in the Yudhishthira period.



forgotferRaa uf¥cde o ugd: ofla Xu s1w gesil & 3a= e :

AT - AT - STIR Fol cilol Ioli 3 fordar AR SFard 3R Fod] AR - AT UR Aerrl SRR TRT Jordl 33, St FHiferw 7 3 UG - ol ST A gol Sparsii iz A D forarfor sBY
sroTep ol A, e oft A, 91 oft & iz Ry oft off ¥r yefla Aar 3 Rp sm=esr 8 A IR >BRRI Bt A1 eRIC Terdt off - v >pb cadl Ao Hoo rerd omRaT & A srerd @ B 3iBRI
31z SBRA S & A2 yrliol JrpopRI & srerdul, 3ifSR?, 9191, SR iy, afdres, sIRETSI, siidd, ®9AUU, PRI, BUd 3R PRI @; Sl Haa: Il 3k ¢l & yIa @gFdl D
AR &

APl A AgY Aol DIt A Y SHaS Tofl 3D arc Saciies A nfeel iz 93130 of sFard aen #oq) o1 oriar forafor s sirra 3 ol uR Rt o sft 31 gfy Bt 531 YR AT @1
foraifor gy oy A Ao et aw €. §. 2493 A 1100 ££. ao cenEr 1400 auf ao Broar diar w1

How many streams of Vedic sages were there?

Afew >BRtRI © fbdoll &g acrdt off ?

[Question ID = 3468][Question Description = S2_qSNz_PG_TRL_Q93]

1. Five streams/ufq emrd

[Option ID = 13869]
2. Four streams/daR &R

[Option ID = 13870]
3. Three streams/tior emrd

[Option ID = 13871]
4. Two streams/gq! arrd

[Option ID = 13872]
Correct Answer :-
e Five streams/ufa e

[Option ID = 13869]

4) Read the given passage and answer the questions that follow:

All along the three epochs of Satayuga-Treta-Dvapar, Vedic hymns and mantras were composed by learned sages from time to time and the same used to be
orally recived and heard. Among the creators of these hymns and mantras, there were sage mendicants, Kings, Sudras and also women. It appears that from
the very beginning, there were two streams of Vedic Sages - First, Rik and the second, Mantra. Mantra belonged to the Atharva branch. The Sages Angira

and Angiras of Atharva belonged to the same Gotra. Atharvavarna, Angiras, Bhrigu, Jamdagni Atri, Vashistha, Bhardwaj, Gautam, Kashyap, Agastya, Kanva and

Angira were among the most ancient aphorists, who were probably heads of major Aryan and Deva families.

The first hymns were composed during the Chakshuk Manu period in the Satayuga. Thereafter, Adityas and Bhrigus continuously created hymns and
mantras in Devlok. The Aryans too, added to the mantras and hymns after their arrival in India. Thus, the creation of the Vedas continued for around 1400
years from 2493 BCE in the Chakshuka Manu period to 1100 BCE in the Yudhishthira period.

forraifeiRaa uf¥cde ol ug®: ofla v s gesii @& 3= difie ©

ATYDT - Yl - HIU2 Fol et Joll & BrRaz e SFav 3iiz o A - FRT R Aendl SBRRIN GRI Jord 2@, St AfId U A UG - Yol oA A Fof SFaAT3 32 dAqY @ forarfor By
sirsTep off A, I st 9, 91g oft A siie R off off Oowr yefla Bl 3 b 3391 & A Afde BitRIT Y Q) emRId el off - v S 3l Hoq] o) sred omaT & A srad @ BN BRI
3fiz sifdrear ol & et yrflor v Rl 3 srerdur, 3ifdR=T, 99y, SIarGar 8ife), afdres, MRETSI, Jiiad, AU, PRI, BT IR BRI B; Sit Hsrad: rif i 34l & yga oesdl D
Fi¥aem &

AYST A ALY ol DI A Y SHaS Tofl 33D arc Jaciie 3 snfeel iz gyay3ii of spard aen Hoqi o1 forar forafur o sa 3 smrel Uz 3Rt of sft 3 gfy B 531 yoor A<t @1
forarfor agu a1og A YfAfts: wrer am €. $. 2493 A 1100 3. aw cemer 1400 auf awm foreaz diar w1

Who were the Atharva Sages?

srerd @ SBIY @lol - Plot & ?
[Question ID = 3469][Question Description = S2_qSNz_PG_TRL_Q9%4]
1. Angira and Angiras/sifSrr sfiz sifSreat

[Option ID = 13873]
2. Bhardwajas and Gautamas/#IRgISI 3l 32 aiicet sur

[Option ID = 13874]
3. Vamdev and Bhardwaj/amda den siRgrst

[Option ID = 13875]



4. Vashishtha and Bhardwaj/afsree 3iiz siRgrst
[Option ID = 13876]

Correct Answer :-
® Angira and Angiras/sifSrr 3fie sifSrat
[Option ID = 13873]

5) Read the given passage and answer the questions that follow:

All along the three epochs of Satayuga-Treta-Dvapar, Vedic hymns and mantras were composed by learned sages from time to time and the same used to be
orally recived and heard. Among the creators of these hymns and mantras, there were sage mendicants, Kings, Sudras and also women. It appears that from
the very beginning, there were two streams of Vedic Sages - First, Rik and the second, Mantra. Mantra belonged to the Atharva branch. The Sages Angira

and Angiras of Atharva belonged to the same Gotra. Atharvavarna, Angiras, Bhrigu, Jamdagni Atri, Vashistha, Bhardwaj, Gautam, Kashyap, Agastya, Kanva and

Angira were among the most ancient aphorists, who were probably heads of major Aryan and Deva families.

The first hymns were composed during the Chakshuk Manu period in the Satayuga. Thereafter, Adityas and Bhrigus continuously created hymns and
mantras in Devlok. The Aryans too, added to the mantras and hymns after their arrival in India. Thus, the creation of the Vedas continued for around 1400
years from 2493 BCE in the Chakshuka Manu period to 1100 BCE in the Yudhishthira period.

forsotferRaa uf¥cdc o1 ugom: ofld fu s1g gesil & Jaz e :

ATIRT - Gl - STUR ol <ilol Joll 3 foRaR dfce >BaIu 3iR o] AR - JIRT R ALl SBIRRIT GRT Joldl 33, il AHlferd 34 3 UG - Jol S A 3ol
Spar3il 3R AGY @ forefor SBRY sirste st &1, e ot &, 9fg ot & 3ik Rai st off Y ycdiar drar 3 b sm=aer & A Al BRI &t A1 aRIe aerdt
off - D >BD G Aoq) FHoq] A AT D I 3fYd D >BIY PRI 3R UPRA 3licfi A JRI Yol IEPPRI A 3rerdul, iR, 39, SHIGids
atfe), afdres, ARG, sliad, MAU, IPIFI, Dud 33 BRI d; Sit Fsrad: Il 3z Sdi & ygra oggdl S glRaar &

AAYST 3 A Hol DIcT A YAHA SBAIC doil 3AD §IG el I 3MfSell 3z YaL3ii ol >SFaIS o1 Aoqll @I foraz fordAivr fibam HRA 3 3ifol UR JRIT
ol oft 31 giig Bl 331 yooR AG! @I forarivr agry aref A IfAfRs? et aw® 3. £. 2493 A 1100 $35. ao cepp1 1400 auf ao rRoar diar @1

During which period were the Vedas created?

<l 1 forfur g A 9 a® g3 3 ?

[Question ID = 3470][Question Description = S2_qSNz_PG_TRL_Q95]
1. 2493 B.C.E. to 1200 B.C.E./$. g, 2493 31 1200 $. g, a®
[Option ID = 13877]
2. 2493 B.C.E. to 1100 B.C.E./$. g, 2493 31 1100 $. g, A
[Option ID = 13878]
3. 2493 B.C.E. to 1300 B.C.E./2493 £ 31 1300 $as

[Option ID = 13879]
4. 2493 B.C.E. to Chakshuk Manu period/2493 $. 31 a1y o] PIcT D

[Option ID = 13880]

Correct Answer :-
e 2493 B.C.E. to 1200 B.C.E./$. g, 2493 31 1200 $. g, a®
[Option ID = 13877]

Topic:- 70Tribal_C

1) Read the given passage carefully and answer the questions that follow:

In modern times, the word civilisation is used synonymously with culture. There is always an illusion between culture and
civilisation. In order to distinguish between them, civilisation is assumed to be the development of external measures and
atmosphere, and culture is assumed to be the development of internal ideals and values. The making of weapons and other
measures can be included within civilisation but if we assume civilisation to be social harmony and sobriety of conduct, then
divisive weapons cannot be included within the word ‘civilisation'. Nature, deformities and culture can help us understand
the personality of human beings. Nature can be defined as something which is not created by humans. Nature is something
that has been given to human beings. One may as well consider it to be the creation of God.

forgaifeiRaa uf¥cdc @I ugm: ofid fu sre gusil @5 3= e ©



JArapfer @ el sngford fRIR 3 U ARIAT 9166 Yalerd 8l SR & AR 31R AT D dia yrr: sjifod &l 3 3ol® dR Sloll @I Adolfa
IS SIAT & 9IS Dol D feTu ARIAT Dl S16dl ATeGll 3R Uf¥d9l @I famRT AT ST 3 deIl Al @I e el iR Jcil @I fmrRT Aed
& 3Rl 3fS ATerell I foHIvT ARIAT B 3icsTd Aol SIT ADAT 3 [bod) IRIR DI eiioldr den ATHIRID AGHIT DI AT ARIAT Aol dl THRICTD
31l DI ARIAT D 3iaaid 81 o1&l Aol S Adar gapfel, farapfer iz Axmier 3o diol 9recl @ IIGRIR Ao B Dicica I 3iferd ST avs A ST
APl 3 el 3 B ADd 3 Sl Aol Bl Dt o1dl 3 a6 A= Bl ol A gra 3l 3 a1 dl 3R $ear & pfer aire1 A1Pa 3

What is the appropriate title of this passage?

S 310G DI IWID ofitfes a=mm 3 ?

[Question ID = 3471][Question Description = S2_qSNz_PG_TRL_Q96]
1. Culture and Society/zizafer 3iiz 3wt [Option ID = 13881]

2. Social Harmony/mnfSi gra [Option ID = 13882]

3. Deformation/famfer [Option ID = 13883]

4. Culture and Civilisation/3izfer aiiz 3=t [Option ID = 13884]

Correct Answer :-
e Culture and Society/zix®fer 3iiz 3@t [Option ID = 13881]

2) Read the given passage carefully and answer the questions that follow:

In modern times, the word civilisation is used synonymously with culture. There is always an illusion between culture and
civilisation. In order to distinguish between them, civilisation is assumed to be the development of external measures and
atmosphere, and culture is assumed to be the development of internal ideals and values. The making of weapons and other
measures can be included within civilisation but if we assume civilisation to be social harmony and sobriety of conduct, then
divisive weapons cannot be included within the word 'civilisation’. Nature, deformities and culture can help us understand
the personality of human beings. Nature can be defined as something which is not created by humans. Nature is something
that has been given to human beings. One may as well consider it to be the creation of God.

forgaifeiRaa uf¥cdc oI ugm: ofid fu sre gusil @5 3= Sive ©

Jrpfer & rarel smeyfore frar 3 v AT 9r6c Yaferd &l sRi & Asdr iR Fwmier & dfa yrr: yifod el 3 301 ar Sloll o AAarcIede
A SIAT 391G Dol D fo1u F19Ier ot arsdt Merell iz uf¥dror o1 frepr Aol Sirar 3 derr Hvafer ol ¥ sncolt siie el o frdrRT AT
3 IRl nfe Fmerell 1 forarfor srar @ sicela Al S AAwar 3 fboq AR & orrclierar den ATMRSIE A B Al ARIAT Aol Al TTRBICTD
3l @l ARIAT @ siasia o o8l Aloll ST Al yapfel, famier siiz dAvafer s diel 91eSl B 3MLAR Aolwa D dDferca @I 32D 3rcedl avs AAS ST
APl & Ymied A 6 AP 3 SlI AR DI DicT ofdl 3 a6 AT DI forwsl A Y BNl 3 & dl A $%aR DI PDier Aol Add 3

What is culture?

dArapfer am 3 7

[Question ID = 3472][Question Description = S2_qSNz_PG_TRL_Q97]

. Culture is the development of internal ideals and values/3izafer stial¥® sngelt sl ac=ii @1 fawr1 & [Option ID = 13885]
. Culture is the creation of God/zix@fer $eaz &t @pfer & [Option ID = 13886]

Culture is nature itself/3izafer & yopfer & [Option ID = 13887]

Culture is the development of external measures/iz®ier are3t el @1 fawrt & [Option ID = 13888]

A W N -

Correct Answer :-
® Culture is the development of internal ideals and values/3iz@fer siiaf® sucoif ik Fcl @1 fdmrt & [Option ID = 13885]

3) Read the given passage carefully and answer the questions that follow:

In modern times, the word civilisation is used synonymously with culture. There is always an illusion between culture and
civilisation. In order to distinguish between them, civilisation is assumed to be the development of external measures and
atmosphere, and culture is assumed to be the development of internal ideals and values. The making of weapons and other
measures can be included within civilisation but if we assume civilisation to be social harmony and sobriety of conduct, then
divisive weapons cannot be included within the word ‘civilisation'. Nature, deformities and culture can help us understand
the personality of human beings. Nature can be defined as something which is not created by humans. Nature is something
that has been given to human beings. One may as well consider it to be the creation of God.

forgoiferRaa uf¥cadc @ ugd: ofid fSu 1w gesil o Iz i

Jirpfer & Aaret seffore faarR 3 v J9Aar 9rec yaferd 3 sRm 3 A9AAT 3R Wil & diar yri: yifod &t  36le arR Sloll @l AdTonefD

I S 3 916 Dol D fo1u A9 ) aredl Arerail sk ufdor ol IRt At6l Sidr 3 aen Arafea ol sidf¥e sncolf siik Il @I PRI A
3 3rql anfe Arercil ol foraivr AR D 3iasia el S ADar 3 foboq AR & oncllorar den ARNRIG AcHIa DI Al ARIAT Aol Al IIRBYCTD
3Rl I ARIAT D 3iasia ot o8l ol s Adar ymfel, ok iz Avapfer sof diel 91l @ ORI AT D Bferea @I 3iferd el avs s ST



ADAI 3 YDl A Be ADA & Sl AT Bl DT o18l 3 a6 AT ot forerst A gra 3t 3 ard Y 3 $eae bt Dfer AT ADA 8

What is civilisation?

FAIJAAT G=AT & ?

[Question ID = 3473][Question Description = S2_qSNz_PG_TRL_Q98]

1. Civilisation is the development of culture /3= 3epfer @1 fawrr & [Option ID = 13889]

2. Civilisation is the development of external measures and atmosphere /2RI a8l el sz uf¥der @ fdemr & [Option ID = 13890]
3. Civilisation is a gift of nature/swar ympfer ggaa & [Option ID = 13891]

4. Civilisation is the development of internal ideals and values/zm=Ir 3iif¥e sugell siiz ac=ii @I fd@rr & [Option ID = 13892]

Correct Answer :-
e (ivilisation is the development of culture/ms=nar iz o1 fdert & [Option ID = 13889]

4) Read the given passage carefully and answer the questions that follow:

In modern times, the word civilisation is used synonymously with culture. There is always an illusion between culture and
civilisation. In order to distinguish between them, civilisation is assumed to be the development of external measures and
atmosphere, and culture is assumed to be the development of internal ideals and values. The making of weapons and other
measures can be included within civilisation but if we assume civilisation to be social harmony and sobriety of conduct, then
divisive weapons cannot be included within the word 'civilisation'. Nature, deformities and culture can help us understand
the personality of human beings. Nature can be defined as something which is not created by humans. Nature is something
that has been given to human beings. One may as well consider it to be the creation of God.

forgoiferRaa uf¥cads @ ugd: ofla XU s1e gesil @ Iaz difsme :

JArapfer @ ATl sngYford fRIR 3 U ARIAT 916g Yalerd 8l SR 3 AR 3IR AT D dia yrr: sjifod &l 3 3ol dR Sloll @I Adola
IS SIAL & 9IS Dol D feTu ARIAT Dl S16d1 ATeGll 3R Uf¥d9l @I fadRT ATl ST 3 deIl Al @I e el iR Fcl @I fmrRT Aed
& 3Rl 3fS ATerell DI forHIvT ARIAT B 3idsTd Aol ST ADAI 3 [bod) IRIR DI Nciioldr den ATHIRID AGHIT DI AT ARIAT Aol dl THRIYCTD
31l DI ARIAT D 3iaaid 81 o8] Aol S Adar gapfel, farapfer iz Armier 3o diol 9recl @ IIGRAR Ao D Dicica I 3iferd ST Avs A ST
APl 3 YDfel 3 B ADd 3 Sl Aol b Dt o1dl 3 a6 A= I ol A gra 3l 3 a1d dl A $ear & pfer aire1 A1Pa

What is nature?

gapfer o= 3 ?

[Question ID = 3474][Question Description = S2_qSNz_PG_TRL_Q99]

1. Nature is not the creation of a human being. It is obtained from nature/yapfer sigrer &t @fet oidt 8 as foref 31 yra 8Kt 8 [Option ID = 13893]
2. Nature is a social thing/yepfer smnfSies aeqg 8 [Option ID = 13894]

3. Nature is culture itself/ymfe & 2zt & [Option ID = 13895]

4. Nature is human-made/ymfer sig foifdfa & [Option ID = 13896]

Correct Answer :-
e Nature is not the creation of a human being. It is obtained from nature/ymier siop=1 &t opiet oiél & s foremwt A yra 8t & [Option ID = 13893]

5) Read the given passage carefully and answer the questions that follow:

In modern times, the word civilisation is used synonymously with culture. There is always an illusion between culture and
civilisation. In order to distinguish between them, civilisation is assumed to be the development of external measures and
atmosphere, and culture is assumed to be the development of internal ideals and values. The making of weapons and other
measures can be included within civilisation but if we assume civilisation to be social harmony and sobriety of conduct, then
divisive weapons cannot be included within the word 'civilisation’. Nature, deformities and culture can help us understand
the personality of human beings. Nature can be defined as something which is not created by humans. Nature is something
that has been given to human beings. One may as well consider it to be the creation of God.

forgaifeiRaa uf¥cdc @I ugm: ofid fu sre gusil @5 3= Sive ©

Jrpfer & Frarel smeUfore frar 3 v AsIdT 9r6c Yaferd 2l sRi & Asdr iR FHwmier & dfa yrr: yifod el 3 301 ar Sloll o AAaATGIeis
A SIAT 391G P2ol D fo1u F19vIer ot arsdl Merell iz uf¥dor o1 frerT e Sirar 3 derr FHvafer ol ¥ snolt siiv el oI R AT
3 IRl nfe Fmerell 1 forarfor Asrar @ sicela Al ST AAwar 3 fboq AR & orrcfierar den ATMRSIE A B Al ARIAT Aol Al TTRBCTD
3l @l ARIAT @ siasia o o8l Aloll ST Al yaplel, famier siiz dAvafer s diel 91eSl B 3MLAR HAolwa D dferca @I 32D 3rcedl avs AAS ST
APl & YDied A s AP 3 SlI AR DI DicT ofdl 3 a6 AT DI forIsl A Y BNl 3 & dl A $%aR DI PDier Aol A 3

Creation of God is termed as:



$oaz bt BT D1 o= war R 3 ?

[Question ID = 3475][Question Description = S2_qSNz_PG_TRL_Q100]
. Deformation/faapfer [Option ID = 13897]

. Culture/zizafer [Option ID = 13898]

. Nature/gafer [Option ID = 13899]

. Tendency/ggfer [Option ID = 13900]

AW N -

Correct Answer :-
e Deformation/faafer [Option ID = 13897]

Topic:- GP_20NOV_A_SH1

1) Read the given passage and answer the questions that follow

The following table presents the details about the percentage (%) distribution of students and the number of boys in six
different colleges (A-F). There is a total of 12000 students in all the six colleges together. Based on the data in the table,
answer the questions.

College-wise Distribution of Students

College | |Percentage (%) of students |Number of Boys
A 12% 1000

B 9% 800

(o 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

arferept A f3U 318 siidpsl @ 3R Uz gesll @ 3a= difsre @

forgstifera aifert o: fafdeel FaIfencril (A - F) 3 csol &t e iz fenfRi &t gferordaar - fraur o1 fazor gzga ol 3 ef
JaiferencrIl 3 et et fenfRRil & Fizear 12000 3

JGIfdenerI - ar faenff o1 faazor

orsifencrr | RenfRii S gRierdar (%)csal &t iz
A 12% 1000

B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

What is the total sum of the number of girls in College-C, boys in College-D and girls in college-E together?

Faifdencr - C 3 crsfipsil &I, ssifdencrn - D # crsol &I siiR Heifdencr - E & sl & A o1 @ Ak o= 8 ?

[Question ID = 3576][Question Description = S2_qSNz_PG_GP2_Q01]
1. 3400

[Option ID = 14301]
2. 3800

[Option ID = 14302]
3. 3200

[Option ID = 14303]
4. 3600

[Option ID = 14304]
Correct Answer :-
e 3400

[Option ID = 14301]



2) Read the given passage and answer the questions that follow

The following table presents the details about the percentage (%) distribution of students and the number of boys in six
different colleges (A-F). There is a total of 12000 students in all the six colleges together. Based on the data in the table,
answer the questions.

College-wise Distribution of Students

College | |Percentage (%) of students |Number of Boys
A 12% 1000

B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

arferept # U 31U sfipsl @ MR U= gosll d 3az difoe @

forsatifepa anfert ©: faftca wsifdencril (A - F) 3 csl &l e iR fRenfil & gfereradr - firaur o faaeur yeqa ol & it
Jrsiferencril 3 e et RenfRil &t 2izen 12000 3

JEIfdeerI - ar faenffi o1 faazor

sreRrecrr | [Renfil B yfereraar (% )crsal & iz
A 12% 1000

B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

What is the respective ratio of the number of boys in College-C, the number of girls in College-B and the total number of
students in College-E?

JslfdenerI - C 3 casol &l Iz, asiidencr - B 3 casis:l &l dzean siiz asifdencrn - E 3 qe ferenfRil bl e o1 Aok siopurd =i 8 ?

[Question ID = 3577][Question Description = S2_qSNz_PG_GP2_Q02]
1. 45:7:97

[Option ID = 14305]
2. 43:9:97

[Option ID = 14306]
3. 45:7:87

[Option ID = 14307]
4. 43:9:87

[Option ID = 14308]
Correct Answer :-
e 45:7:97

[Option ID = 14305]

3) Read the given passage and answer the questions that follow

The following table presents the details about the percentage (%) distribution of students and the number of boys in six
different colleges (A-F). There is a total of 12000 students in all the six colleges together. Based on the data in the table,
answer the questions.

College-wise Distribution of Students

College | |Percentage (%) of students |Number of Boys

A 12% 1000

B 9% 800

C 26% 1800



College | |Percentage (%) of students |Number of Boys

D 18% 1200
E 29% 2400
F 6% 200

arferept i U 31U sfidpsi @ MR U= gosll d Ia Sifore @

forsotifepa anfermt ©: fafticar wsIfdencril (A - F) 3 cswml &t e ik fRenfil & gfereradr - firaur o faaeur yeqa ol & it
Jraiferencril 3 Rrena: et RenfRil &t 2izn 12000 3

HBIfdECRI - aR faenfeil o1 faazor

srefreerr | [Renfiil B gfereraar (% )crsat & sz
A 12% 1000

B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

What is the difference between the number of boys in College-E and the total number of students in College-F?
JislidencrI - E 3 crsol &f iz 3k dAsticencrr - F 3 gt faeni2ii &f e o & o= siar 8 ?

[Question ID = 3578][Question Description = S2_qSNz_PG_GP2_Q03]

1. 1640

[Option ID = 14309]
2. 1760

[Option ID = 14310]
3. 1720

[Option ID = 14311]
4. 1680

[Option ID = 14312]
Correct Answer :-
e 1640

[Option ID = 14309]

4) Read the given passage and answer the questions that follow

The following table presents the details about the percentage (%) distribution of students and the number of boys in six
different colleges (A-F). There is a total of 12000 students in all the six colleges together. Based on the data in the table,
answer the questions.

College-wise Distribution of Students

College | |Percentage (%) of students |Number of Boys
A 12% 1000

B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

aifért d U 31U sl @ MR R gosll @ IR difste ©

forrotifcpa aifert ©: fAaftice dsIfdencril (A - F) 3 cswml &l e iR fenfil & gfereradr - foRaur o1 faaeur yeqa ol & it
Jrsiferencril 3 e et RenfRil &t Jizen 12000 3



JGIfdEnerI - ar faenffn o1 faazor

orsifiencrr | RenfRii S gRierdar (%)asal &t iz
A 12% 1000
B 9% 800
C 26% 1800
D 18% 1200
E 29% 2400
F 6% 200

In which of the following colleges is the total number of students equal to the number of girls in College-E?
forgaifepa fop=1 HaIfencrr 3 ferenfRRIil &I wer dAwe, asifdencrr - E & asfis:l &I e @& wrer 8 ?

[Question ID = 3579][Question Description = S2_qSNz_PG_GP2_Q04]
1. A

[Option ID = 14313]
2. B

[Option ID = 14314]
3. C

[Option ID = 14315]
4. D

[Option ID = 14316]
Correct Answer :-
e A

[Option ID = 14313]

5) Read the given passage and answer the questions that follow

The following table presents the details about the percentage (%) distribution of students and the number of boys in six
different colleges (A-F). There is a total of 12000 students in all the six colleges together. Based on the data in the table,
answer the questions.

College-wise Distribution of Students

College | |Percentage (%) of students |Number of Boys
A 12% 1000

B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

arferor 3 2w a1e siiest @ sienR uR gesil o Iz i ¢

forgstifera aiferet o: fafdeer FaIfencril (A - F) 3 csol &t e iz fenfRi &t gferordaar - fravr o1 fazor gzqa ol 3 ef
FaiferencrIl 3 e et fenfRRil & Jizar 12000 3

JeIfdenery - ar faenffn o1 faazor

srefrencrr | [RenfRii B gfereraar (% )ersal & sizear
A 12% 1000
B 9% 800
C 26% 1800
D 18% 1200
E 29% 2400
F 6% 200




The number of girls in College-A is approximately what percentage of the total number of students in College-B?
JalfdeerI - A 3 crsfcal &l iz, sifdencr - B 3 ferenf2Ril &I aget i @I comiel fobdon gferera 3 ?

[Question ID = 3580][Question Description = S2_qSNz_PG_GP2_Q05]
1. 50
[Option ID = 14317]
2. 35
[Option ID = 14318]
3. 45

[Option ID = 14319]
4. 40

[Option ID = 14320]

Correct Answer :-
e 50
[Option ID = 14317]

Topic:- GP_20NOV_B_SH1

1) Which parenting style is the one in which parents seem cool and controlling their interactions with their children (low
warmth, high control):

forgsiferlRae 3 31 as Plal 2l Uge (Weer) Iiclt 3 P st - T sruol gl & AT 3ruofl sia:fpRr 3 @ - 9fo™ SiiR forRIg® yedla i 3 ¢
(forgat swtsitelt, 3ca foriqur) :

[Question ID = 3581][Question Description = S2_qSNz_PG_GP2_Q06]

1. Authoritative parents/yiféipifye® s - fiar [Option ID = 14321]

2. Authoritarian parents/snfemif¥a@ arar - fdar [Option ID = 14322]

3. Permissive parents/srojsiue e - fier [Option ID = 14323]

4. Rejecting/Neglecting/Uninvolved parents/3RdidR @0l drcl / 3UsT @0l drel / 3idsifdd of lol arel #r - fiar [Option ID = 14324]

Correct Answer :-

e Authoritative parents/yiférpifsa amar - faar [Option ID = 14321]

2) Which of the following assessment methods provides feedback, that is non-evaluative, occurs before or during
instruction, and guides teachers in planning and improving instruction?

forgotfcii¥aa vt PeAidel Ul 3 BIsd® Yglel fp=r SIdT 3, Sil 31R - Aol URMP BIdl 8, 3eIe9lel A gd AT IAD SRIel afed il 3 3R
31oJ¢9rol Al AlSTell dollol 3R 333 LR cllol A EATUDI DI APIGIeT Bl 3 :

[Question ID = 3582][Question Description = S2_qSNz_PG_GP2_Q07]

Summative/neaa [Option ID = 14325]
Criterion-referenced/zicfifa @=iict [Option ID = 14326]
Formative/fomfoncaras [Option ID = 14327]

Norm referenced/3icfdfa amei [Option ID = 14328]

A wWw N =

Correct Answer :-
e Summative /e [Option ID = 14325]

3) Given below are two statements
Statement I: Parents and teachers have a highly significant impact on the maturation aspect of cognitive development

Statement Il: Schemes are an organised system of actions or thought that allow us to mentally represent or "think about" the
objects and events in our world

In light of the above statements, choose the correct answer from the options given below

il S werel fdu sre 3 ¢
Dol - | : JAsHenca® fprR1 & uf¥uddet usg U= Ardr - firdar siiz gl @1 dga & Asraygel e usar &

el - | : Asrons fRpamsil ar Rt 6 Js1ida caazend Bxdl 3 sit s sarl gform &bt avqgil siik acosil @l Al 3u A yfaffira oo ar

JURITP Dol @ 3MIelid 3, ofidl f&u s1u farseul 3 A Il 3= @1 ol HifSte &
[Question ID = 3583][Question Description = S2_qSNz_PG_GP2_Q08]



Statement | is true but Statement Il is false/memwer | 311 8, fbog ®eret |l sRicr & [Option ID = 14331]
Statement | is false but Statement Il is true/ermel | srII 3, fbog @ere || 3r & [Option ID = 14332]
Both Statement | and Statement Il are true/@eret | 3z || Gloll 311 8 [Option ID = 14329]

Both Statement | and Statement Il are false/@ermr | 3iiz |l Steif sRicr & [Option ID = 14330]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are true/@emwr | 3iR 11 Glell 3 & [Option ID = 14329]

4) ldentify the types of cognitive load that make demands during learning
A. Intrinsic

B. Gestalt

C. Extraneous

D. Extinction

E. Germane

Choose the correct answer from the options given below:

3 JASIGIcAD HR D YPRI bl Usdlol o3 Sl RPIHA D HIRT HidT 3 3 ¢

A. srdfys

B. sréice

C. ara

D. ferelia

E. 3ora

ofid fou o1 fweal # A A8 IR BT <RIl BT :

[Question ID = 3584][Question Description = S2_qSNz_PG_GP2_Q09]

A, B and C only/d@act A, B siiz C [Option ID = 14333]
B, C and D only/a@aa B, C sfiz D [Option ID = 14334]
A, C and E only/d@ac A, C 3iiz E [Option ID = 14335]
C, D and E only/asaet C, D sir E [Option ID = 14336]

A wWw N -

Correct Answer :-
e A, Band Conly/dact A, B siiz C [Option ID = 14333]

5) Match List | with List I

List | List Il
Erik's stages of Psychosocial Approximate
Development Age
. A I. Young
A. Basic trust versus Basic mistrust
adulthood
Il. Late
B. Initiative versus Guilt
adulthood
C. Intimacy versus Isolation lll. 3 to 6 years

IV. Birth to 12-

D. Ego integrit Despai
go integrity versus Despair 18 months

Choose the correct answer from the options given below:

el -1 @ 3 -1l 3 Fafera bifSie

Rt -1 et -l

(cf¥es @ FeiRIENRID RIPRT & azvl) (afosre 3Ry )

A. diiferes fRreart seat difere sifdrart |. gd @=rar

B. uscl dolet iy Il. a5 &I R

C. 3AR3IAT Solld UDIbIbUT . 33 6 ad

D. 3163 AATOISOT Folld HOITOM IV. Sloar &5 12 - 18 #dlot

offc feu aru frpedl 3 3 13l 3R gfore :



[Question ID = 3585][Question Description = S2_qSNz_PG_GP2_Q10]
1. A-lV,B-U, C-,D-U
[Option ID = 14337]
2. A-UL,B-L, C-l,D-LV
[Option ID = 14338]
3. A-,B-lI, C-lv, D -l

[Option ID = 14339]
4. A-lIl,B-lV, C-lUL, D-L

[Option ID = 14340]

Correct Answer :-
e A-lV,B-Ul,C-l,D-U
[Option ID = 14337]
6) When we design the experiment in such a way that the variations caused by extraneous factors can all be combined
under the general concept of "chance", it represents which principle?

Sid &9 fop=ft udigiur (varmifydic) @1 foriivr 331 g @ & o5 are PR®I GRI 3cuod fafdeerarsil (afsueiz) @1 eI (Ti=) &t AEIme=
AEIRYI @ 3ideid IS b= st AIpdar 8, dl u1s v Rigia @1 foreuvt wear 8 ?

[Question ID = 3586][Question Description = S2_qSNz_PG_GP2_Q11]

Principle of randomization/=mefessdbiasur a1 Bigia (fdRuer sifw Jssasaenr) [Option ID = 14341]

Principle of replication/ysrmgfer @1 Rigia (fdfRmet sifw wcfidorer) [Option ID = 14342]

Principle of local control/zemsfter foriqur @1 RBrgia (fif¥uet sifw cliaser weler) [Option ID = 14343]

Principle of operational control/3ifdgicae foriqur @1 Bigia (ffuet sifw sifuderer acler) [Option ID = 14344]

AW N =

Correct Answer :-
® Principle of randomization/=mefesdbiassur @t Brgia (fifRmer sitw Issansaioer) [Option ID = 14341]

7) Positivism as an epistemological program is characteristic of
SRR BRigH & U A gragars feadl fadraar 3 ?

[Question ID = 3587][Question Description = S2_qSNz_PG_GP2_Q12]
Social sciences/xmfse fasior [Option ID = 14345]

Performing Arts/ygefet @etrl [Option ID = 14346]

Natural sciences/ympfere fesirer [Option ID = 14347]

Legal studies/faféra sreerror [Option ID = 14348]

A WN -

Correct Answer :-
® Social sciences/amafed fasior [Option ID = 14345]

8) ldentify the CORRECT sequence of empirical steps in the linear model of the research process

ofter yfepan & 3IRaes yfepirer 3 smopnfde aruil & A3l selaH 6l usdre HIfSe :

[Question ID = 3588][Question Description = S2_qSNz_PG_GP2_Q13]
1. Sampling — theory — interpretation — collection — validation — hypotheses/yferrier — Rigia — forddae — seur — ygmflaur — yraweuen [Option ID

= 14349]

2. Theory — hypotheses — sampling — collection — interpretation — validation/Rrigia — yra@wcusnt — yferrIel — 2pfev — fordast — yemvftaszur [Option 1D
= 14350]

3. Validation — theory — hypotheses — collection — sampling — interpretation/ygmfiessnr — Brgia — yraacusn — Iofaur — yferartel — fordaet [Option ID =
14351]

4. Collection — sampling — hypotheses — theory — interpretation — operationalization/3sgu — YyferRIol — Yraawcuo — RBigid — fordaer —
JAfpRIcrchIanul (3Mmveicnsaiont) [Option ID = 14352]

Correct Answer :-

e Sampling — theory — interpretation — collection — validation — hypotheses/yfercrier — Rigia — fordaet — g1 — yemvfienr — yraaeuon [Option 1D
= 14349]

9) Which of the below mentioned approaches fall under the Quantitative Approach?
A. Simulation approach

B. Projective technique

C. Inferential approach

D. Depth interview

E. Experimental approach

Choose the correct answer from the options given below:



forgotferlRaa 3 A dlor A fPEE AIcaD IBPRI W 3idefa 3 ?

A. 3ro@2u P (ATSHCIONGT TYI)

B. gardl awolles (Feifirea eaoiis)

C. 3epmfore PRI (3oWIGIORICT TgIa)

D. s1s01 AgIIcDPR

E. griIfBr® ifdenr

il fou a1 fraseul 9 A W) IR BI Il HIRdIE :

[Question ID = 3589][Question Description = S2_qSNz_PG_GP2_Q14]

1. A, Cand E only/daet A, C 3z E [Option ID = 14353]
2. B, C and E only/dsaet B, C siiz E [Option ID = 14354]
3. B, C and D only/dae B, C aiiz D [Option ID = 14355]
4. A, B and C only/dsaet A, B siiz C [Option ID = 14356]

Correct Answer :-
e A, CandE only/aaet A, C siiz E [Option ID = 14353]

10) Match List | with List Il

List | List Il

A. Ex post facto I. Finding a solution for an immediate problem facing a society or an industrial/business
Research organisation

B. Applied Research Il. Related to some abstract idea(s) or theory

C. Conceptual Research [lll. Development of hypotheses rather than their testing

D. Exploratory Research |IV. No control over variables, reports only what has happened or what is happening

Choose the correct answer from the options given below:

et -l oot 3Eh -1l A Fgafera HifSre :

et -1 et -1l

A. orRifaz || it JrerrsT srerar siEnf3res / RGNl FsToe @ AT

ofler Sulerd ArcdIfeld JAIRRAT DI AL GGoll

zh;@qgﬂs II. Roeft argef Rrar (Rram) srerar Brgia A wwefima

C.

rigRRIcas ||l adieror & Ferrel U Yradedell Bl bRt

orter

D. Jercadl IV, @Rl ur o1E foriqu o1dl, dac 3= &I sirereil St 3 it 81 gor|
ofex @& sreran 31 381 3

oifY feu oru famedl 3 A A8 3R gforo :
[Question ID = 3590][Question Description = S2_qSNz_PG_GP2_Q15]

A-lV, B -1, C-llL, D -l [Option ID = 14357]
-lll, B -II, C -1, D -IV [Option ID = 14358]
IV, B -1, C -II, D -1Il [Option ID = 14359]

1.

2. A
3. A
4. A-1,B-lll, C-Il, D -1V [Option ID = 14360]

Correct Answer :-
e A-lV,B-l, C-ll, D -l [Option ID = 14357]

11) Peer-to-peer communication is
HAGE A AADE DI AFYUYI 3 :

[Question ID = 3591][Question Description = S2_qSNz_PG_GP2_Q16]
1. Horizontal/ éiferst

[Option ID = 14361]
2. Convoluted/ziafera

[Option ID = 14362]
3. Non-transactional/3Iz - Jiaaii¥®d

[Option ID = 14363]
4. Authoritarian/iférarzarct

[Option ID = 14364]
Correct Answer :-
e Horizontal/ &iferst
[Option ID = 14361]



12) The main challenges of grapevine communication are:
A. Its formal nature

B. Distortion

C. Misunderstanding

D. Source anonymity

E. Conformity

Choose the correct answer from the options given below:

STolydIG AFYuUT Pt 31 goilferi & ?

A. sardt siioanfyas gafir

B. fereuvur

C. Jrcrawast

D. e seimeca

E. srepReuar

il fou o1 frapeul 3 A & IR BT TI6T HIfSIE ¢

[Question ID = 3592][Question Description = S2_qSNz_PG_GP2_Q17]

1. A, B and C only/daa A, B siiz C [Option ID = 14365]
2. B, C and D only/dbaer B, C siiz D [Option ID = 14366]
3. C, DandE only/a@ae C, D siiz E [Option ID = 14367]
4. A, Cand D only/daer A, C 3iiz D [Option ID = 14368]

Correct Answer :-
e A, Band C only/aac A, B iz C [Option ID = 14365]

13) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Students do not form part of the media audience
Reason R: Due to the all-pervasive digital technology, students have become interactive media users

In light of the above statements, choose the correct answer from the options given below

il €1 erol fu a1w 3 1 uep sifdraserat (Assertion A) @ wu 3 iR ¢RI 3AD dRUT (Reason R) @ wu & :
sfdrperet (A) : fRremefl, 3= - offen & a1 o8t 3

@Rt (R) : a1d - caaw 3fica giznBibl @ werraeu faemeff sioa: fappmefiar #ifsen yrierwart oot s1e 3
SR Peoil D 3Iclid #, ofld fGu faamcdl 3 A 7 3a= &1 wrRIel Hifsr -

[Question ID = 3593][Question Description = S2_qSNz_PG_GP2_Q18]

. Both A and R are true and R is the correct explanation of A/(A) 3iz (R) il 31 8 3l (R), (A) &I 38l =r=n & [Option ID = 14369]

. Both A and R are true but R is NOT the correct explanation of A/(A) sl (R) 31 &t 2 wog (R), (A) &t 3d waren orét & [Option ID = 14370]
. Ais true but R is false/(A) 3= 3, aifdpat (R) sricx 8 [Option ID = 14371]

. Ais false but R is true/(A) sric 3, aftpar (R) 3= @ [Option ID = 14372]

A W N -

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) siiz (R) @leil 31 8 aiiz (R), (A) &t 3t s & [Option ID = 14369]

14) Identify the CORRECT sequence of the following communication forms:
A. Mass

B. Public

C. Group

D. Inter-personal

E. Intra-personal

Choose the correct answer from the options given below

forgotifepa JAFYHUT - FaBUl D AT ead DI usarel HifSte :

A. STot - I

B. Storar



C. axz

D. siR - Juftpd

E. sa: - Juftom

ofi o s1u fesedl & A A8 3R BT wRI6l BT :

[Question ID = 3594][Question Description = S2_qSNz_PG_GP2_Q19]

1. A, D, E, B, C [Option ID = 14373]
2. D, E, B, C, A [Option ID = 14374]
3. E, D, C, B, A[Option ID = 14375]
4. B, C, A, D, E [Option ID = 14376]

Correct Answer :-
e A, D, E, B, C[Option ID = 14373]

15) Match List | with List Il

List | List Il

Types of noise in communication/Characteristic feature

A. Physical |. Barriers within the sender or receiver
B. Physiological 1l. Wandering thoughts

C. Psychological lll. Use of jargon

D. Semantic IV. Mechanical distortion

Choose the correct answer from the options given below:

el -1 @ 3 -1l 3 Fafera bifSie

et -1 Rxeh -1

(FFYuLI 3 IR D YDR) (3ifreTgifre fadruar)

A. i |. QU AT S[guIdmdl @ EA aAET
B. 9r: fppica® 1. sperorefier feram

C. Feifersnford 1. fafdrse - orssracht @1 gRIeT

D. orecreifersirer IV. nfoqa freuvur

ofid f&u sru fpeal 3 A Al IR gfem :
[Question ID = 3595][Question Description = S2_qSNz_PG_GP2_Q20]

A -1V, B -1, C-ll, D -lll [Option ID = 14377]
A-l, B -ll, C-lll, D -1V [Option ID = 14378]
A-lll, B -1V, C -1, D -1l [Option ID = 14379]
A -ll, B -lll, C -1V, D -1 [Option ID = 14380]

A WN -

Correct Answer :-
e A-IV,B-I, C-Il, D-lll [Option ID = 14377]

16) The incomes of Ravi and Kavita are in the ratio 2:3 and their expenditures are in the ratio 3:5. If each saves ¥ 100,
then Ravi's income is

e 3R ferer bt 3ir1 2 ¢ 3 & 3regurd 3 3 3R Iold> A Dl 3gpurd 3 ¢ 5 3 3PR YA X 100 qad o & dl A b 31 3 ¢

[Question ID = 3596][Question Description = S2_qSNz_PG_GP2_Q21]
1. X200

[Option ID = 14381]
2. %600

[Option ID = 14382]
3. %400

[Option ID = 14383]
4. 100

[Option ID = 14384]
Correct Answer :-
e X200

[Option ID = 14381]

17) The new cost of a mobile which has been discounted by 15% is ¥ 3230. What was the cost of the mobile originally?
15 yferera &1 w¢ @ 1 Alarser @ orki Yo X 3230 3 AlaIsa o1 YR Jea o= o ?

[Question ID = 3597][Question Description = S2_qSNz_PG_GP2_Q22]
1. 3675

[Option ID = 14385]
2. 33650



[Option ID = 14386]
3. %3600

[Option ID = 14387]
4. %3800

[Option ID = 14388]
Correct Answer :-
e 33675

[Option ID = 14385]

18) The product of two positive consecutive odd integers is 1 less than six times their sum. One of the integers is
3l HOIICH® AP fITRI YuIfas I IUTeIbel, 3ol APIGd B 6 - JPN A 1 ®H 3 Sloil 3 A Ud Yol 3 ©

[Question ID = 3598][Question Description = S2_qSNz_PG_GP2_Q23]
1. 7

[Option ID = 14389]
2.9

[Option ID = 14390]
3. 15

[Option ID = 14391]
4. 13

[Option ID = 14392]
Correct Answer :-
o 7

[Option ID = 14389]

19) Given below are two statements
Statement I: A number that has factors other than 1 and itself is called a composite number
Statement Il: 23 is the only odd prime number

In light of the above statements, choose the correct answer from the options given below

ofil &1 werer Ru ame 3 :

Dl - | : v A, PRIPT 1 3iik gsizen Fa=i 8l aade BId 3, Uh AlPID ST AT IYTh AW Bl Sl 3
@l - || : Daa 23 & vparg [dua w6 o &

SURID Peoil @ 3iIcllid H, ofld U a1g faacal 3 A Jdt IR ®I wRIal Hifst -

[Question ID = 3599][Question Description = S2_qSNz_PG_GP2_Q24]
1. Both Statement | and Statement Il are true/erer | 3ii2 || Sleil cer &

[Option ID = 14393]
2. Both Statement | and Statement Il are false/a@erwr | 3iiz |l Qlail sRIcT &

[Option ID = 14394]
3. Statement | is true but Statement Il is false/eror | 31 &, Aifdsor aerot |1 sRicT 8

[Option ID = 14395]
4. Statement | is false but Statement Il is true/aerot | sricr 3, Afdber werat | 2T 3

[Option ID = 14396]
Correct Answer :-
e Both Statement | and Statement Il are true/wmemr | 3iiz |1 ol e 3

[Option ID = 14393]

20) Match List | with List Il

List | List Il

Three numbers Their average
A. 40, 32, 33 . 38

B. 35, 36, 40 |Il. 36

C. 33, 36, 39 |lIl. 35

D. 30, 38, 46 |IV. 37

Choose the correct answer from the options given below:

et -l oot 3 -1l A Fgafera HifSie :




Rret -1 et -l

(cfiot Jizsm) (Sotep1 3R (3i=D))
A. 40, 32, 33 I. 38

B. 35, 36, 40 1. 36

C. 33, 36, 39 Il. 35

D. 30, 38, 46 IvV. 37

oifY feu aru famedl 3 A 8 3R gforo :

[Question ID = 3600][Question Description = S2_qSNz_PG_GP2_Q25]
1. A-IV,B-1,C-1l,D-1l

[Option ID = 14397]
2. A-1,B-1V,C-1,D-1ll

[Option ID = 14398]
3. A-1L,B-1V,C-1I,D-I

[Option ID = 14399]
4. A-IV,B-1I,C-1II,D-1

[Option ID = 14400]
Correct Answer :-
e A-IV,B-I,C-1l,D-1

[Option ID = 14397]

21) Advertising "Testimonials” are frequent instances of this fallacy
'gaIo1 b1 frsidet @3on forgsiferRaa 3 1 fopa1 Sy @ wgal 3ol drcl 351801 3 ?

[Question ID = 3601][Question Description = S2_qSNz_PG_GP2_Q26]
1. Argumentum ad ignorantiam (ignorance)/3iejdfiocd Bs sooilfoc3id (3fsiloldr)

[Option ID = 14401]
2. Argumentum ad Misericordiam (appeal to pity)/sis=fdiocs vs Rsi¥aifSer (G ot 3e)E)

[Option ID = 14402]
3. Argumentum ad Populum/sime=fdicest us urgers

[Option ID = 14403]
4. Argumentum ad Verecundiam (authority)/smeRfdioca us Q¥dpfosad (YifdR)

[Option ID = 14404]

Correct Answer :-
® Argumentum ad ignorantiam (ignorance)/sis=ffiocs ©s Seolfoca (3ISIIeldr)

[Option ID = 14401]

22) If 'some women are writers is true, which of the following codes are CORRECT
A. 'All women are writers' false

B. 'All women are writers' is true

C. 'No women are writers' is false

D. 'Some women are not writers' is undetermined

Choose the correct answer from the options given below:

afe ' o Alan ARaem F aca 3, Al PrafiRad i A ola A o A8 & ?
A. w3t aifdend Aifaop1d & srrca 3

B. "wsft sifdemd aRawe ¥ e

C. ‘@1 aden aRawmr off T sr1ca 3

D. ‘o afdce g ot 3 siforerfya 3

ofi o s1u fwedl & A A8 IR BT wRI6l BT :

[Question ID = 3602][Question Description = S2_qSNz_PG_GP2_Q27]
1. A and B only/d>aer A siiz B

[Option ID = 14405]
2. Band C only/@aet B aiiz C

[Option ID = 14406]
3. Cand D only/aaet C siiz D

[Option ID = 14407]
4. B and D only/@ae B siiz D



[Option ID = 14408]
Correct Answer :-
e A and B only/dbact A siiz B
[Option ID = 14405]

23) Which of the following code correctly represents the figure and mood of the argument?
No musicians are Italians

All barbers are Musicians

Therefore, No barbers are Italians

Choose the correct answer from the options given below

forgatferlRaa 31 3 Plel AT G AP D PR dAT YPR Bl A3l foreuvt e &7
oI Foflamr secft ®r ol 3

Mt od Fefiaer &

3IeT: DI olr$ sccil @I ordl 3

[Question ID = 3603][Question Description = S2_qSNz_PG_GP2_Q28]
1. EAE-1/$us-|

[Option ID = 14409]
2. EAE-II/$us- I

[Option ID = 14410]
3. EAE-I/$us- I

[Option ID = 14411]
4. EAE-IV/$ug- IV

[Option ID = 14412]
Correct Answer :-
e EAE-1/gud-|
[Option ID = 14409]

24) If a jar is temporarily removed from its locus the non-existence of the jar on the floor is
afS fp2ft rclarer (SIR) @1 srrens A 31uol eumel (clib2a) A ael 3 sie aY wof uz addrer T soif¥dwa 2 :
[Question ID = 3604][Question Description = S2_qSNz_PG_GP2_Q29]

1. Upamana (Comparison)/3udtel (qcfol) (baufstor)

[Option ID = 14413]
2. Arthapatti (Implication)/srerfufer (foifdanef) (secfiddoror)

[Option ID = 14414]
3. Anumana (Inference)/ 3ol (soWb3A)

[Option ID = 14415]
4. Anuplabdhi (Non-cognition)/sreuecifeer (stot - @fdotorer)

[Option ID = 14416]
Correct Answer :-
e Upamana (Comparison)/3usiiel (dcioll) (cpauf¥sion)

[Option ID = 14413]

25) The knowing self knows objects through the instrumentality of the Indriyas and the existence of the Indriya, is proved
by

ST SRI a33il @I sfogal @ ATeel SR SIT6l ST 8 31k sfogal @ silara yanfora o sirar 3

[Question ID = 3605][Question Description = S2_qSNz_PG_GP2_Q30]

1. Arthapatti/srerfufer grer

[Option ID = 14417]
2. Anuplabdhi/sguecifeer gt

[Option ID = 14418]
3. Anumana/ 3l gRI

[Option ID = 14419]
4. Upamana/3udel grRI

[Option ID = 14420]

Correct Answer :-



o Arthapatti/srerfufer grr

[Option ID = 14417]

26) Match List | with List Il

List | List Il
(Activity) (File Type)
IA. Recording a song to play on an iPod I. .zip

B. Saving a video Il. .mp3

C. Sending a photo to someone using your mobile|lll. .mp4
D. Compressing a folder of files IV. .jpeg

Choose the correct answer from the options given below:

It -1 oot g -1 21 gifera difere ¢

et -1 et -1

(fger - @erra) (wIscl B goR)
A. T 3E dfs uR ofid goirar @ fere Ropis asear l. .35 3 o
B. v dif3= e weon Il. .o di 3
C. 31uol Mdrsel Bl YAPI B U b2l & BT Aston lll. .o di 4
D. U GIEA @ BIcs2 DI BIYA Bl IV. .31 di 5 sit

ofiax 3w o1 el 3 A At I gfom :

[Question ID = 3606][Question Description = S2_qSNz_PG_GP2_Q31]
1. A-IL,B-1,C-1,D-IV

[Option ID = 14421]
2. A-IV,B-1I,C-1I,D-I

[Option ID = 14422]
3. A-1L,B-1I,C-1V,D-I

[Option ID = 14423]
4. A-1,B-1I,C-1V,D-1

[Option ID = 14424]
Correct Answer :-
e A-I,B-Ill,C-I,D-1IV
[Option ID = 14421]

27) Kavita uses a Wifi adapter to connect the computer to an interactive whiteboard.

Which one of these statements is false?

DIl TP arf - BIS TSt Bl YIPI BIRIc: DI U cilcAfepoflel arsedls A Siisol d oxdl 3 fogorifioa wewll 3 A Blot 31 3 ?

[Question ID = 3607][Question Description = S2_qSNz_PG_GP2_Q32]
1. Wifi has a greater range than Bluetooth/zIse €IS @1 35 scf g 3 SIe1 8t 8

[Option ID = 14425]
2. Wifi signals are capable of passing through solid objects/ar wi$ @ Roret Sl uatelf @ dfa 3 oft uR ot 3 oret

[Option ID = 14426]
3. Bluetooth has a greater range than Wifi/sciger @1 361 ar$ - 1S 31 SI1et aiar &

[Option ID = 14427]
4. Bluetooth signals are capable of passing through solid objects/scy e @ Rwoiet SRRI uerelf @ dla 3 off urR @l I wwet

[Option ID = 14428]

Correct Answer :-
e Wifi has a greater range than Bluetooth/rse €IS @I 331 sc],c¥ 3 SRACT Bl &

[Option ID = 14425]

28) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: The Internet is very beneficial to students in all aspects

Reason R: The Internet opens doorways to a wealth of information, knowledge and educational resources thereby increasing
opportunities for learning in and beyond the classroom

In light of the above statements, choose the correct answer from the options given below

ofid ot Pl fGu a1e 3 @ v sifdrerat (Assertion A) @ ¥u 3 3R eI 3 PRI (Reason R) @ »u 3 :



siffreperet (A) : gevole feremeill @ fore il eftelur A 9ga sIeT averRl 3

®RYI (R) : seolc Faesil, sifel 3R 9gifdT® - JHATerell Bl ggar oI $R IgIfed ol 3 PRI wel @ 3062 AT MA W AZPH D dgol D
RR Y 3l &

SURID Peoil @ 3Icilidb H, ofld fGu famcdl 3 A T 3az &1 wrRIel Hifsr -

[Question ID = 3608][Question Description = S2_qSNz_PG_GP2_Q33]
1. Both A and R are true and R is the correct explanation of A/(A) 3l (R) glell 31 2 3z (R), (A) &t 3t careen 3

[Option ID = 14429]
2. Both A and R are true but R is NOT the correct explanation of A/(A) 3iiz (R) cleil 31 & udoq (R), (A) 6 3 =men ot 8

[Option ID = 14430]
3. Ais true but R is false/(A) 3 3, cifdver (R) 3ricr 3

[Option ID = 14431]
4. Ais false but R is true/(A) sric 3, cifepal (R) 31 2

[Option ID = 14432]

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) cleil 311 & 3i (R), (A) &I 3l =iz 8

[Option ID = 14429]

29) Identify the CORRECT order of the following data transfer rates measured in bits per second (bps) ranked from largest
to smallest

A. 1500 kbps
B. 1500 Mbps
C. 1 Mbps
D. 1 Gbps

Choose the correct answer from the options given below

Rt gfr ABs (@t O w21) 3 A 51T 3T - SHEaIRVI - T D §3 A VI A TP B UsHIe! BB
A. 1500 o & di vt

B. 1500 war & df o1

C. 1 ga & dlt v

D. 1 oft &t ot vt

il fou s1u frapeul 3 A & 3R BT a6 HIfSIE ©

[Question ID = 3609][Question Description = S2_qSNz_PG_GP2_Q34]
1. D,B, A, C

[Option ID = 14433]
2. B,D,C, A

[Option ID = 14434]
3. B,A,D,C

[Option ID = 14435]
4. B,D, A C

[Option ID = 14436]

Correct Answer :-
e D B,AC

[Option ID = 14433]

30) Given below are two statements
Statement I: You can add attachments of any file size to an email.
Statement Il: You can only send emails from a laptop computer.

In light of the above statements, choose the correct answer from the options given below

ofil &1 weror Ru ame 3 :

@erd - | : 3mu fpft 3ht wrdar A1sST @Y $ate I 3icadic D WU A SIS ADd &
el - |l : 3 dact du - 3u wIRgez A & e NS ADA 3

SURITS Peoll B 3MIelid #, ofi fGu el 3 A A IR BT TR DI :



[Question ID = 3610][Question Description = S2_qSNz_PG_GP2_Q35]
1. Both Statement | and Statement Il are true/erer | 3iiz || Steil Jeer &

[Option ID = 14437]
2. Both Statement | and Statement Il are false/a@erer | iz || Gloil sricT &

[Option ID = 14438]
3. Statement | is true but Statement Il is false/@eror | 31cer &, Aifdsor averor |1 sRicT 3

[Option ID = 14439]
4. Statement | is false but Statement Il is true/erme | sRicI 8, cifdpor @werat || 31T 3

[Option ID = 14440]

Correct Answer :-
® Both Statement | and Statement Il are true/ermwr | 3iiz |1 Seil 31 &

[Option ID = 14437]

31) What are essential for the formation of photochemical smog?
A. Oxides of sulphur

B. Oxides of Nitrogen

C. Volatile Organic Compounds

D. Water Vapour

E. Sunlight

Choose the correct answer from the options given below:

JDI9I - IRIRITOID &J - DIe2 D Folol D feT8 Dol A MMEAAD 8 ?
A. AB B SifaRIES

B. aIsdisal @ sifaeirss

C. aruefia ordfore i

D. Sterarca

E. it - gooror

ofi o s1u fwedl & A A8 IR BT wRI6l BT :

[Question ID = 3611][Question Description = S2_qSNz_PG_GP2_Q36]
1. A, Band C only/@aa A, B aiiz C

[Option ID = 14441]
2. A, B, Cand D only/dact A, B, C 3iiz D

[Option ID = 14442]
3. B,C,DandE only/@aa B, C, D iz E

[Option ID = 14443]
4. B, C and E only/@act B, C 3l E

[Option ID = 14444]

Correct Answer :-
e A BandConly/@ac A, Bsiz C

[Option ID = 14441]

32) What is the CORRECT sequence of occurrence of various atmospheric layers from earth's surface?
A. Thermosphere

B. Stratosphere

C. Mesosphere

D. Troposphere

Choose the correct answer from the options given below

gedl &I Aas A BuR fafdeor argesci udl &t sul-afer o1 18l ap = 8 ?



D. eismusa
ofia f3u a1u faaseul 3 A I8 IR DI TR BRI ¢

[Question ID = 3612][Question Description = S2_qSNz_PG_GP2_Q37]
1. D,B, A, C

[Option ID = 14445]
2. D,B,C, A

[Option ID = 14446]
3.B,D,C, A

[Option ID = 14447]
4. C,B,D, A

[Option ID = 14448]
Correct Answer :-
e D,B,AC

[Option ID = 14445]

33) Which one of the following climate change proxies is not the terrestrial biotic climatic proxy?
forsaiferRaa 3 A ®let sicrary uf¥ade gferadf}, urféfa Sia sterary yferady o8t 3 ?

[Question ID = 3613][Question Description = S2_qSNz_PG_GP2_Q38]
1. Boreholes/fig - fsg (a2 - 2ic=d)

[Option ID = 14449]
2. Leaf physiology/uq - @ifibr

[Option ID = 14450]
3. Tree ring/qet - acrx

[Option ID = 14451]
4. Pollen and spore analysis/upIbul vd sy faecwor

[Option ID = 14452]

Correct Answer :-

e Boreholes/fag - fésg (dI2 - dlcan)
[Option ID = 14449]

34) A high amount of BOD (Biochemical Oxygen Demand) in a water body represents
A. Highly Polluted Water

B. Presence of a large amount of organic materials

C. Presence of good amount dissolved oxygen

D. Severely limited aquatic life

Choose the correct answer from the options given below:

Uep SICTORT 3 &l 3il 31 (SIaRRIrfore - sifa=fistor - 3iio1) & siféres aqgy yefdfa ol 3 :
A. srcaftre ygftia St

B. wrdfors ugrelt &t serer gy &1 uf¥erfer

C. R sifarfisior &t sadl Frgp &t sufFerfer

D. srcaferes fifdr sicfiar shtaor

il feu s1u fareedl 3 A A8 IR D1 WRIet B :

[Question ID = 3614][Question Description = S2_qSNz_PG_GP2_Q39]
1. A, B, Cand D only/A, B, C 3iz D

[Option ID = 14453]
2. B, Cand D only/@aa B, C siiz D

[Option ID = 14454]
3. A, Cand D only/daer A, C aie D

[Option ID = 14455]
4. A, B and D only/dae A, B siiz D

[Option ID = 14456]

Correct Answer :-

e A, B, CandDonly/A, B, C3ir D
[Option ID = 14453]



35) Which one of the following is a component of a Sewage Treatment Plant (STP)?
forgotferfR3aea 3 3 Dol U FeTsicl - forsuvt - FRiq (T & i) @1 v aew 3 ?

[Question ID = 3615][Question Description = S2_qSNz_PG_GP2_Q40]
1. UV source/?, dl. 3

[Option ID = 14457]
2. lon exchanger/3irIol vaRiis

[Option ID = 14458]
3. Grit chamber/arcieur - yors

[Option ID = 14459]
4. Cyclone/3rsaciior

[Option ID = 14460]

Correct Answer :-
e UV source/z, dl. 3a

[Option ID = 14457]

36) According to the NEP- 2020, a Master's Programme may be of:
A. one-year duration

B. two-year duration

C. three-year duration

D. four-year duration

E. five-year duration

Choose the correct answer from the options given below:

Tol. 5. Ul. - 2020 @ 3[6RIR, MR UIGARd 3l ADdl 3 :
A. v ad &I smaf?r o1

B. <1 adf bt srafer @1

C. die1 ad &I smaf?r o1

D. ar o &I sraf?r o1

E. ufa ad &t sm@fer o1

il fou s1u frapeul 3 A I IR BT w6l HIfSIE ©

[Question ID = 3616][Question Description = S2_qSNz_PG_GP2_Q41]
1. A, Band E only/@act A, B siiz E

[Option ID = 14461]
2. A, B and C only/daa A, B aie C

[Option ID = 14462]
3. B, Cand Eonly/@ae1 B, C siR E

[Option ID = 14463]
4. B and D only/@ae B siiz D

[Option ID = 14464]

Correct Answer :-
e A, BandE only/daa A, B 3iiz E

[Option ID = 14461]

37) According to NEP-2020, the Higher Education Commission of India (HECI) will be set up:

A. to replace the UGC for maintaining quality and standard in higher education institutions

B. as an umbrella institution to look into regulation accreditation, funding and academic standard
C. as a regulatory authority to maintain quality and standard

D. to maintain academic standard of higher education institutions

Choose the correct answer from the options given below:

wol. 5. Ul. 2020 o SRR, HRA I I 19181T 3IRIPT FeMftd fdp=r Siee :
A. ISl @1 I 9igifors sl 3 SUIadI Ud IR F6llU Rl D 18 Yfer-emust



B. faformecl, yeariel, forf2rret 3iiz SigIfres Far &l Sxasilet 3q Bqm ATl D WU 3
C. v fAfoRIEIIe I & FU 3 IUIAHI Td FAR Tolle &l D ferg

D. 3<a igifdre Avensii @ ASIVID ¥R Pl Jolle 3ol D fere

ofi 3 s1u faseal & A A8} IR BT wRI6l BT :

[Question ID = 3617][Question Description = S2_qSNz_PG_GP2_Q42]
1. A and B only/d>aet A iz B

[Option ID = 14465]
2. B, Cand D only/@aa B, C siiz D

[Option ID = 14466]
3. A, Cand D only/dact A, C siiz D

[Option ID = 14467]
4. A, B, CandD/A, B, C aiz D

[Option ID = 14468]
Correct Answer :-
e A and B only/dact A siiz B
[Option ID = 14465]

38) Match List | with List Il

List | List Il

Regulatory institutions as per NEP-2020  |Responsibilities

IA. NHERC |. Academic standards
B. NAC Il. Accreditation

C. HEGC lll. Regulation

D. GEC IV. Financing

Choose the correct answer from the options given below:

et -1 B g -1l A @i Hife

Rpet -1 et -l

(ot. 5. Ul. & SR fafornca® i) (c1Rrea)

A. GolLua.s.3R.AL. |. oreifdTp - IR
B. wor.ul. Il. gearIor

C. vas.sii. 11, faformerct

D. sft.s.2ft IV. forferror

oif<l feu are fawedl 3 A A8 3R gfore :

[Question ID = 3618][Question Description = S2_qSNz_PG_GP2_Q43]
1. A-N,B-1,C-1,D-1IV

[Option ID = 14469]
2. A-11,B-1I,C-1V,D- |

[Option ID = 14470]
3. A-1L,B-1I,C-1V,D-I

[Option ID = 14471]
4. A-IV,B-1l,C-1l,D-1

[Option ID = 14472]
Correct Answer :-
e A-IIlLB-Il,C-I,D-1IV
[Option ID = 14469]

39) According to NEP-2020, National Research Foundation (NRF) may be established to
wor.s.dl. 2020 @ 3elAR, IASERI 3roRIceI6l Yfereolel (Tol.3IR.uwb.) FeIIftrd fopan Sir J1par 3 :

[Question ID = 3619][Question Description = S2_qSNz_PG_GP2_Q44]
1. Promote doctoral/post-doctoral research/siac3e siiz ke Sfacdc olltl & GiriIsal 3

[Option ID = 14473]
2. Promote fundamental scientific research/smemzsa dsmform olter o1 Qemfaa o

[Option ID = 14474]
3. Enable universities to establish research laboratories/f=afdemcril @t oier - yRisToNe3il bl FeMuelr @ Meel Tollol 3

[Option ID = 14475]
4. Enable a culture of research to permeate through universities/fdeafderncrIl 3 ofter Jxpier B =T Blol D o1U o8 AW Tolloll

[Option ID = 14476]



Correct Answer :-
® Promote doctoral/post-doctoral research/siac3c 3iiR dlee Sfac3c 9litl D JicAlsal 3
[Option ID = 14473]

40) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Higher education in India has limited access particularly in socio-economically disadvantaged areas

Reason R: The research and innovation investment in India is only 0.69% of GDP

In light of the above statements, choose the most appropriate answer from the options given below

il St erel fRu s1e 3@ uep sifdraperst (Assertion A) @ %u 3 iz ¢RI 3@ ®RYT (Reason R) & o 3 :
aifdrperet (A) © sira 3 I<a - e &t Mf¥a uga 3 fdue: AIRnlie - e dik@a gqi #

@Rt (R) : s 3 oter 3l orararR forder Arwa Mg Icurg (Sh.3lul.) o1 dac 0.69% &

SURTD DUoll B AIclid ¥, ofid By Riwcul i A A& a2 &1 wrIaT Hifste ©

[Question ID = 3620][Question Description = S2_qSNz_PG_GP2_Q45]

1. Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) ciail 3t 3 3z (R), (A) &t 3 cmen 8
[Option ID = 14477]

2. Both A and R are correct but R is NOT the correct explanation of A/(A) siiz (R) cleil 3 8 u3sq (R), (A) 6t 3 e ot
[Option ID = 14478]

3. Alis correct but R is not correct/(A) 3@ & usoq (R) 3@t oét &

[Option ID = 14479]
4. Ais not correct but R is correct/(A) & ot 8 usog (R) 2t 3

[Option ID = 14480]

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) siiz (R) gl &t & 3z (R), (A) 6l 348 wmcn 3
[Option ID = 14477]

Topic:- GP_20NOV_C_SH1

1)

Read the given passage and answer the questions that follow

Early feminist theory had emphasised the commonalities of women's oppression, neglecting profound differences between
women in terms of class, age, religion, race and nation. As its exclusionary nature became evident, the collective ‘we' of
feminism was called into question. The inadequacies of feminist theorising that conflated the condition of white, middle
class women with the condition of all women were highlighted in North America by black and Latin feminists, and in Britain
by black and Asian feminists. Such critiques evoked the concepts of 'inter-locking identities' and inter-locking oppressions’.
Related and more radical analyses came from feminist scholars in the Third world, where quite different agendas were
called for. These critiques heightened the irrelevance of western feminism's analytical frameworks to the lives of most
women around the world and attempted to reposition feminist debate within broader social, economic and cultural
contexts of analysis advocated by scholars such as Janus. Such critiques spoke from a post-colonial position, in which the
self-assumed authority of western feminists to speak about or indeed for others was disputed and decentered. Influential
accounts of the tendencies of masculinist imperialist ideological formation to construct a ‘'monolithic Third world’' woman’,
discursively constituted as the universal victim of Third world patriarchy, challenged feminists to "unlearn” their privilege
and to deconstruct their own authority as intellectuals. These positions appeared to question the legitimacy of outside
intervention of any kind, whether intellectual or political. Although subsequently attempted by the Third world scholars
anxious to move beyond standpoints that threatened to mark all feminist politics as either inauthentic or unnecessary,
they were enduringly influential in highlighting the questions identity and authority in feminist studies.

il feu a1u srerior ol earyde ug 3R Yool & IR § ¢

yRfid oidtardt Rigia 3 ael, sy, &f, genfer siiz arsg &I zfRe A afgensii & dia srsd ficordisii ol orsisicrst w gu Afdciail & cdHol bI
ATATGICAIIN UR &t =11 3R o1 S AT sruasias yapfer use 8 a1 dl oidlaig @ AHR® '8’ UR ool Ris ol R oidiardt Rigidl &t
sraitadnsil, frogiol «dd, seasasita afdenaii b Rrerfer w1 it aifgemsii b1 Frerfer 3 Brem Gam en, @1 3adt s@Af¥®1 A srdd i enrcloft
SIstaifeRil of ISIPR b aen et 3 3read 3R efdrRE sislanfRIl of ISIPR b QA sirellkrl of "$ecdifepor ssERAsT siir "seaddifesar’
sifaReixa’ &t feramenisii o1 gferurcer fooan 31 Adfed iz aifére siferardt faeeseur dierdt gform @ sndaré fagreill g1 fovan srRi gt facae &t
o501 ©SisT I #HidT §F 3o MMcia®I of gforn &l 3iferaior Afenaii @ Siidel @ Ader 3 UIU IRlaIcIl & fSuvcaA® il &I YRITarar ot
ISIPR fdpan e Siferea SiRl g6l grI Fualkia feauur & cnue Apnfe, e R ARGI® cH! D SRR 3 ARIaK! 9631 DI Yol: FATfitd



P20l Dl JARI b B2 sieliadp! of 3wk - situferafdres Rafer 3 smarst ot g e, RrEl ulehl srdtaifeRl & ¢rRl & ar 3 dica & FaftEa
3R I foRIE 3R fadodim2ul v SR yByardt ARsAaarct ggieril ol RererRt @ gurdl gadidi d o "srausicde® 'diRil gforn &f
Jifgen” Jdelt fdar @1 foriivr wel & e a8 ad 61 sri s it gform & it FAfdeme frgerar 2 HifSa & sore oiRlaric:il @I 3ol
RN B "yt 3z gfysRfRl @ wu 3 Juel IR B Bisor B golldl & so1 RefRril 3 Roefl yor & aer sFagu, diys an
IsIofiferes derar @1 geildl fretol cell sreifes wretiar i diwrl gforn @ gt 3o effcdIvil A U SIel B IYD A Ricslol AYvl ¥iarK) Isoiifer
DI AYIALOTD 3T OB AR AT $A YDR D oIRIAIH 31eeRIell bl ugdlol 31T iferdr A Adfira Adrcl ) cPIAR IIPR 2 3B &

The early feminist theory ignored among women, the issue of
yrRite odlag & Rigia 3 afdcnsii & fowafclaa 3 A a1 #T B slerRere @2 &ar sk ?

[Question ID = 3621][Question Description = S2_qSNz_PG_GP2_Q46]
1. Enduring commonalities/idaa AmeieRIans
[Option ID = 14481]
2. Significant differences/asrayuf fcorart
[Option ID = 14482]
3. Inclusive factors/J@msft oR®

[Option ID = 14483]
4. Oppressive elements/gaerRl daca

[Option ID = 14484]

Correct Answer :-
® Enduring commonalities/iad JmereIAans

[Option ID = 14481]

2)

Read the given passage and answer the questions that follow

Early feminist theory had emphasised the commonalities of women's oppression, neglecting profound differences between
women in terms of class, age, religion, race and nation. As its exclusionary nature became evident, the collective 'we' of
feminism was called into question. The inadequacies of feminist theorising that conflated the condition of white, middle
class women with the condition of all women were highlighted in North America by black and Latin feminists, and in Britain
by black and Asian feminists. Such critiques evoked the concepts of 'inter-locking identities' and inter-locking oppressions'.
Related and more radical analyses came from feminist scholars in the Third world, where quite different agendas were
called for. These critiques heightened the irrelevance of western feminism's analytical frameworks to the lives of most
women around the world and attempted to reposition feminist debate within broader social, economic and cultural
contexts of analysis advocated by scholars such as Janus. Such critiques spoke from a post-colonial position, in which the
self-assumed authority of western feminists to speak about or indeed for others was disputed and decentered. Influential
accounts of the tendencies of masculinist imperialist ideological formation to construct a 'monolithic Third world' woman’,
discursively constituted as the universal victim of Third world patriarchy, challenged feminists to "unlearn” their privilege
and to deconstruct their own authority as intellectuals. These positions appeared to question the legitimacy of outside
intervention of any kind, whether intellectual or political. Although subsequently attempted by the Third world scholars
anxious to move beyond standpoints that threatened to mark all feminist politics as either inauthentic or unnecessary,
they were enduringly influential in highlighting the questions identity and authority in feminist studies.

i) feu a1u srErior ol earyde ug 3iiR gesil & IR § ¢

yRftie oidlardt Bigia 3 ael, 3Ry, esf, genfer siiz arsg &I zfRe A afdensii & dkr sr6d ficordansil @l oisRsics wx gu Afdcisil & <ol &I
ATATRIALSAL UR dc fGar1 oRIr &1 S/ $31<hl siuasias yafer Fuse 81 o dl siidlare @ AHfd® s’ uR yeal Ris o1 srn oidlardt Rigidl &b
sraRafaarns, Keslor @, seprasita afdcsil b Refer o1 3ft aAfdemsii b Rrefer 21 Rren B e, @Y 3a8 3pifyoet 3 sraq sl arclish
SIstaifezil of SRR fipan den feet 3 3rad 3iiz efRNE sisiaifézil of ISIPR fipem VA sncliaml of 'Seddifdser ssRERAS siiz "seeddifdssr
sifaReiRt’ &I fraremrisil @ yfiurcet feen sl wdfeM sl siftr siferardl freasaur dizrdl gforn @ ondflardl figell RI e SR stef [icaer &
forootr wolst &bl HidvT g% 3ot srrella®l of gforn & siferapior Afdernsil @ Sfaet @ Jder 3 U sidlafil @& freauvncae aidl & sgRIBrodar ot
IeIPR fop=n aen Sifer S Rigiell grI affa freduer & cmae e, snfife iz Ao el & SRR 3 oIflardl s ol Yo: Tenfia
P20l DI PRI fpar B2 sieliadp! of 3wk - situferafdre Rafer 3 smarst ot g e, RrEl ulRell sdtaifeRil & oarRl & ar 3 dica & FaEftEa
PR @I foRIE 3R fadogim2uT o SR yByardh ARIsAadarct ygicrIl ol Rrmrert @ gurdl geidi 3 ud "3rausicd® 'diRil’ giorn &f
afden” Adelt frar o1 foefvr wor @ e as ao 3ar srn 5 dadt gorm &t mft afdans frgerar 2 Wiida & sort smdlanie=l ot sruct
frorenfererRl @ "yerar” ik gigsiferil @ wu i ol IR B Bisal &Gt goildl & so1 Baferil A vt yor @ are@r sradu, difgs an
Ieifere derdr o1 goildl Rictol el areifs wretiar 3 diwrdl gforn @ g 361 effemIvil A U2 Sirel Bl IR A Ricsla Ayl laK) Isoife
DI AYIATOTD 312 CIAAD AR AT $A YR B oIRIAIH 31eeRIell bl usdlel 3R ifErpr A Adfera Adicl ) TPIAR 3SIPR 2 3B &



Initially, the feminist theory veered around the problems of

3me1 & omdtardt Rigia forotferRaa 3 A fvar wer=n @ 3¢ BIS gyt a1 e ?

[Question ID = 3622][Question Description = S2_qSNz_PG_GP2_Q47]
1. Feminists around the world/fiea o2 @ omardt

[Option ID = 14485]

2. North-American middle class white women/3c3t 3m@if¥cmr @ dreerdt asf 6t 23 aAfdems
[Option ID = 14486]

3. Blacks and Latinos/3meda siie cireioft sifacmet

[Option ID = 14487]
4. ldentified women groups in different places/firor - froor el w2 fifea afden s

[Option ID = 14488]

Correct Answer :-
® Feminists around the world/fea 92 @ atarct
[Option ID = 14485]

3)

Read the given passage and answer the questions that follow

Early feminist theory had emphasised the commonalities of women's oppression, neglecting profound differences between
women in terms of class, age, religion, race and nation. As its exclusionary nature became evident, the collective ‘we' of
feminism was called into question. The inadequacies of feminist theorising that conflated the condition of white, middle
class women with the condition of all women were highlighted in North America by black and Latin feminists, and in Britain
by black and Asian feminists. Such critiques evoked the concepts of 'inter-locking identities' and inter-locking oppressions'.
Related and more radical analyses came from feminist scholars in the Third world, where quite different agendas were
called for. These critiques heightened the irrelevance of western feminism's analytical frameworks to the lives of most
women around the world and attempted to reposition feminist debate within broader social, economic and cultural
contexts of analysis advocated by scholars such as Janus. Such critiques spoke from a post-colonial position, in which the
self-assumed authority of western feminists to speak about or indeed for others was disputed and decentered. Influential
accounts of the tendencies of masculinist imperialist ideological formation to construct a ‘'monolithic Third world' woman’,
discursively constituted as the universal victim of Third world patriarchy, challenged feminists to "unlearn” their privilege
and to deconstruct their own authority as intellectuals. These positions appeared to question the legitimacy of outside
intervention of any kind, whether intellectual or political. Although subsequently attempted by the Third world scholars
anxious to move beyond standpoints that threatened to mark all feminist politics as either inauthentic or unnecessary,
they were enduringly influential in highlighting the questions identity and authority in feminist studies.

il feu a1u srerior ol earyde ug 3R gl & IR § ¢

gRiSre aRlaK Rigia 3 oef, Ry, epf, ysife 3iiz rsg &I zfee 21 Afdcnsil @ i s1ed f3coIarsii DI oISR3IGIST Dl gU ATl B Gatol DI
AHATGAAIAT U2 dcl ST sRIr &1 Sl $31<hl siuasias yafa Fuse 31 o dl siidlarg @& Affd® s’ ur geal Ris o1 sk oirdlardt Rigidl &b
sraRifaan, Kiedlol @, serpasia afscsil b Refer @1 asft aAfdemsii H Rrafer 24 Rren R e, @1 3ad spifyoer 3 sraq iz ardish
SISIaIfeRIl of SSIPR s den feet 3 3rdd 3iik ofdRNE sisiaifezil of JSIPR fapem ¥ sirellaal of 'Seciifepol ERRAS sk "Seediifessr
sffaReiRt’ &l Reameenzisii @1 gferurce o sl HdfE $iiR sifere siferard) fressuur dizil gforn @ odla] fRigell rI e s Sief fareame &
foroot wolst &bl HidvT g% 5ot srretlaml of gforn &I siferaior Afdernsii @ silaet @ Jder d urk sislanfcal @ feSuvncae ikl & sIgRIBrodar oI
ISIPR fdpan aerr sifera SIRY fagmoll gR1 Jufia frauur & snue ArEnkee, snffe iz Airaiios Hcsif @ crR 3 Ilard asa of yol: Fenfida
D01 DI GART b VA sireiiat of Iar - sfiuferafdre Rrerfer 3 smarst o gz v, RSl uf2phl sndiaifeil o gRl & ar 3 dicor & FaEfta
3iferorR @I faRIer i fadodia:ur o SR ysyardh ARsAadrét ygicrIl ol fermzenst @ gurdl gedidi # ud "srausica® "didl’ giorm bf
afden” Adelt frar o1 fowefr wor @ e A a3 srn 6 derdl gform &t it afdend Rrgerar A Wifda 3 sort srdiane= @t sruct
frorenf2rpRI @ "yetor” iR gigshferil & wu 3 sruol IR B B1sal &I goildll & so1 Rauferil A fpfl ypr & are@ svadu, difgs @
ISTolifere derdr ol geildl frcrol epll srctifs wraiar I i gforn @ fRiger o1 eftcmIvil A W el Bl 3D I RSieslel QUi aIRIaE swolife
DI AYIHAIOID 3R McIAAD AR T A YPR D IRIAIST 3MeRIcll bl usdrel 3R 3iferpR A JHdfa Farcl &I dendR 3SIPR &2 W

The analytical frameworks of western feminists were critiqued by Third world scholars as:

U oidlanfel @ freauuncae aidl & eiign el gfornm @ Rigell orr et a3 &t = ?



[Question ID = 3623][Question Description = S2_qSNz_PG_GP2_Q48]
1. they had different societal agendas/fdioat - firear JermT Jiaeft DR

[Option ID = 14489]
2. radical and irrelevant/siferarct siiz smgRifdis =u 9t
[Option ID = 14490]
3. they had to be repositioned in different contexts/fafdreor et 3t yor:zemuer ool & fer@

[Option ID = 14491]
4. they had to fit in a discursive discourse/fddaefler Yyader @ =Meer

[Option ID = 14492]

Correct Answer :-
e they had different societal agendas/fdror - firoor st Jdeft BrRidg
[Option ID = 14489]

4)

Read the given passage and answer the questions that follow

Early feminist theory had emphasised the commonalities of women's oppression, neglecting profound differences between
women in terms of class, age, religion, race and nation. As its exclusionary nature became evident, the collective 'we' of
feminism was called into question. The inadequacies of feminist theorising that conflated the condition of white, middle
class women with the condition of all women were highlighted in North America by black and Latin feminists, and in Britain
by black and Asian feminists. Such critiques evoked the concepts of 'inter-locking identities' and inter-locking oppressions'.
Related and more radical analyses came from feminist scholars in the Third world, where quite different agendas were
called for. These critiques heightened the irrelevance of western feminism's analytical frameworks to the lives of most
women around the world and attempted to reposition feminist debate within broader social, economic and cultural
contexts of analysis advocated by scholars such as Janus. Such critiques spoke from a post-colonial position, in which the
self-assumed authority of western feminists to speak about or indeed for others was disputed and decentered. Influential
accounts of the tendencies of masculinist imperialist ideological formation to construct a ‘'monolithic Third world' woman’,
discursively constituted as the universal victim of Third world patriarchy, challenged feminists to "unlearn” their privilege
and to deconstruct their own authority as intellectuals. These positions appeared to question the legitimacy of outside
intervention of any kind, whether intellectual or political. Although subsequently attempted by the Third world scholars
anxious to move beyond standpoints that threatened to mark all feminist politics as either inauthentic or unnecessary,
they were enduringly influential in highlighting the questions identity and authority in feminist studies.
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Post-colonial, western feminists were asked to
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[Question ID = 3624][Question Description = S2_qSNz_PG_GP2_Q49]
1. Free themselves from masculinist ideologies/gauarct Rigidl 3t ¥a=i &I Feb Dol D e

[Option ID = 14493]
2. Disengage themselves from the idea of Third world woman'. /=i @I i3t gforn bt afdetaii A sicor D0t D fere

[Option ID = 14494]



3. Challenge the Third world patriarchy/=3t gforn &t fiqRracadmdar oI goildl gol @ fere

[Option ID = 14495]
4. Deconstruct their status as intellectuals/gfgsidt @ u 9t ameft Reifer I oM B0t D forw

[Option ID = 14496]

Correct Answer :-
® Free themselves from masculinist ideologies/gauarct RBigidl A ¥a@=i P b B0l D e
[Option ID = 14493]

5)

Read the given passage and answer the questions that follow

Early feminist theory had emphasised the commonalities of women's oppression, neglecting profound differences between
women in terms of class, age, religion, race and nation. As its exclusionary nature became evident, the collective ‘we' of
feminism was called into question. The inadequacies of feminist theorising that conflated the condition of white, middle
class women with the condition of all women were highlighted in North America by black and Latin feminists, and in Britain
by black and Asian feminists. Such critiques evoked the concepts of 'inter-locking identities' and inter-locking oppressions'.
Related and more radical analyses came from feminist scholars in the Third world, where quite different agendas were
called for. These critiques heightened the irrelevance of western feminism's analytical frameworks to the lives of most
women around the world and attempted to reposition feminist debate within broader social, economic and cultural
contexts of analysis advocated by scholars such as Janus. Such critiques spoke from a post-colonial position, in which the
self-assumed authority of western feminists to speak about or indeed for others was disputed and decentered. Influential
accounts of the tendencies of masculinist imperialist ideological formation to construct a 'monolithic Third world' woman’,
discursively constituted as the universal victim of Third world patriarchy, challenged feminists to "unlearn” their privilege
and to deconstruct their own authority as intellectuals. These positions appeared to question the legitimacy of outside
intervention of any kind, whether intellectual or political. Although subsequently attempted by the Third world scholars
anxious to move beyond standpoints that threatened to mark all feminist politics as either inauthentic or unnecessary,
they were enduringly influential in highlighting the questions identity and authority in feminist studies.
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The passage speaks of
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[Question ID = 3625][Question Description = S2_qSNz_PG_GP2_Q50]
1. Identity issues in feminist studies/eRlarct sierell ¥ usdre! Adel 38

[Option ID = 14497]
2. Authority of western feminist scholars/wrr siRtac! gl @1 giftrer

[Option ID = 14498]
3. Experience of Third world feminists/drst gform @ smtaifeRit @1 siopera

[Option ID = 14499]
4. ldeological constructs all over the world/ g3t gforn 3 Jaifse forfferi

[Option ID = 14500]

Correct Answer :-



e |dentity issues in feminist studies/sIRlaIc! srerRIGll 3 usarel sl 72
[Option ID = 14497]





